I ST Sref=Tee BT o 21T,
TG — 226010
G- 50 /02/HreT STHIT (S1T8)/2020-23/23-9811/2016
qET: : foTih : o) s, 2023
HTETIAH TEAT
STTEANT o Frma 23 wda2016, AfeATeTe qe-Iohl ST (GTHT=T =12 e 2016
%aﬁmﬁww%@%ﬂuﬂwﬁqﬁmomom (o) =t ST ot Trft off |
AIIAT AN ht STvah e HEAT-39/02/HF0STF0(STTE)/2020-23/23-FH&1/2016,
TR 24-04-2023 BT SPETR RIET 261 STTfr ST st Ul Svh S spoft ot 3y oot ey
ST HesTeft fofeh ST oY Jarmee Ut sreite 6 e off |
SUIRTTER ik 24-04-2023 I Iuele H R I S F e s s %
oReRr % 3T SN o R GET-23-7081/201 6, GRARTT Gefieht D (GITHT=T <2 )
uﬁm2016aﬁr%f@aqﬁm%mﬁzﬁ°°mﬁ%WW’ vffat o ararishel SN

ot JeEEe http://upsssc.gov.in I TYAS HT S T R |
%ﬁ'@’hm e
&

HeT - IR |
TETS |




Jalk ueel Jrefleizer Jar 99a e, A%Eds
Afdnfera apeiil-Aar (AT =@=1) T -2016

“Teferd I Holl (AR Ge)”
Odler R : 26.03.2023
Gus-1 (HFEr) / Section-1 (Compulsory)
(am =) *-,,
1. ‘T s o veEETH qay, | *-'-.Lfi“:':ﬁ
fimr o
2. fowt foreho # WAt fereita - AT & 7 N
3. ﬁﬂﬁaﬁaﬂﬁﬁﬁmﬁﬂmﬁMM%mmﬁiﬁi?
e, e, wfeh .
4, IR v W HEl AW IR | -
oy ..;.f"
5. e e g oo - wﬁnhraﬂ:fﬁmmﬁt-
i - A0 A
6. gﬁanhmﬁm@—gﬂ%ﬂ“ o’ = 3f 3 B -
ea -
1. ﬁnﬁhﬁa@mmaﬁﬁ@ﬁuﬁa?
s
8. 'ﬁ%\?’ﬁww'—gﬂﬁmﬁﬁmaﬁwﬁ?
) g, W
9, | W S - AR AU ;
a1 =t et 3 i oo )
10, 1 3wt e e ol & 7
e
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11, Tor e 3 afiem o it wee wdt 78t 2

wIR - i
12. Fedd R R ade 7
aftorfy
13, WU 310 9E WA-a % Hat &' Gie 3§ B 91 SRR 7
T HEHR
14, “foreehr =i A far o wh’ - ga weg @ % forg v e ey |
g :
15, ‘niwl s A wn m a7 o
16. oot 3 s v e 3 7 el
T, ik, <ig ;_T.;':’.
17. Peddaomm s =
e e
18. ‘-z’ e wow g & 7
o &°
19. ‘I2 + a9 o ot Ay & -
Ay o
20. ‘R A g
Re+a N
2. HEEH R O vt A o | e 3 ea R o 7
T Tl
22. ﬁﬂmﬁﬂmﬁﬁmmmaﬂth
e
23. - ‘mforew’ # = w avet & ¢
24, UET 9 U A W R e R 7
ST
25. ‘G SR N 431 R 7w H e R A TR E 7
T WA
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26.

(a1 i THH / General Intelligence Ta::st',!
Fome | B, e ) of ¥ o <61 sl 9 & | e = s @ wan 2 7
Ll

Kunal says, “Rohit's mother & the only daughter of my mother”, How is Kunal related to
Rohit 7 .

Maternal uncle

27.

Choose the correct alternative for below given series ; - s

PP_RPQQ_PQ RPPQ_
QRRR

et fafear e v & GAME %1 HBNF % &9 § siifeq e 9 21 o 31 g2 W 4
HOME i &4 ferar smom 7 A
In certain code language GAME is coded as HBNF, Now; how HOME will be written in the
same code language 7 A
T
IPNF e

29,

| ==, 2003 %I AT U1 | | w=al, mnﬁ.ﬁmﬂaﬂqmﬁqm ?
January 1, 2003 was Friday. th.lﬁa}-nf the week was on January 1, 2004 7
Saturday ;

30,

walking now 7

9 08 50 Ao R ST 7, G w55 1 oA 20 e e B 1
T SR e T 30 et B 3 R s o s e o w2 | s aw Bea fen
R ? 4

)

m—#ﬁiﬁ :

Going.50 mi'to the south of her house, Dina turns left and goes another 20 m. Then turning
to the North, she goes 30 m and then starts walking to her house. In which direction is she

North-West

3l.

T 57
o

Find the odd one out :
April

MASTER i CTS (G.5.) E-2016(Common Qns.) A3
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32, i, T, w, v, R, @, qo S Rren o e i & 3 g, 61 TR o |
w0 43 § | o, foren gt s i sl R B an i e e oad | I,
ferire <6 2t i e worm e At & | e, T o) Y o gt v A R | R T
Wil T & s v A A b ot e s vdiedt & | v s Rl
o frm afmag gy
Palak, Quincy, Ramesh, Shyam, Timir, Umang, Vandan and Willa are sitting around a :.:i:rculﬁr
table facing the centre of the table. Palak sits third to the right of Willa and third 1o the lett of
Quincy. Shyam sits second to the right of Timir. Vandan sits second to the left of Ramesh,
Timir is not neighbour of Quincy while Umang is neither a neighbour of Timir nor of Willa,
How many persons are sitting between left of Shyam and right of Timir ? "

1

30, ST O g e S 5 AR 2R | v A e e
H, &5ft w1 vy I A |7 s d 1RaT R | T el SR erefEal ) e feedt & 7

26 3 34

Ram’s rank is 15" from the top and 12" fiom the bottomin a group of boys. Similarly, in a
group of girls, the rank of Daisy is 17" from top and 18" from bottom. What is number of
boys and girls respectively 7 4

|y

26 and 34 . &

M, A fom o Rt 3 @ ot i < s ot st g @ g0 A
JU T ; HHETY - 2 BT i /

W ey
From the options given below pick the one that best completes the Sequence,
Describe : Ineffablo 7y See : ( 7)

Invisible. .

35 WM deﬂm Figures :

1)}/ 1LJ oacy|

I BT/ Answer Figures ;

I:I:'Jﬁ”ﬂuﬂ MJI:IU:IMJ

AQDO
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36, fow e g = wnekes s st
. = 2. wiEigm 3, FafEn
4, WIETERE 5. S0 6. feammm
Arrange the given words in a meaningful sequence |
. Belection 2. Probation

3. Appointment 4.  Interview
5.  Applecation 6,  Advertisement

6,54, 1,312

3. mm@%ﬁﬁ#mmﬁlaﬂwﬁﬁqﬁmm@ﬁﬁm%mﬁw
i | L
Select a figure from amongst the Answer Figures which will mf‘.tlfum the same series as
established by the five Problem Figures. P
| AT [ Problem Figures :

®lalabele] o
@ B © @ @© o
I AT | Answer Figures : & ,:J

glrle{e{®|

m @6 ®, 6
-z k"-":_?

_- . N ’r

38. mmﬁmw X g |
Identify the fi gg‘i'& that completes the pattern X,

]
% 1X)

HEHERE

(A) (B) (C) (D)

MASTER ! 5 CTS (G.5.) E-2016(Common Qns.) A3




39,

T8 Tt 1 921 L 1 [, 0 G 1 T o1 R (a1 gi0or) 3 o et -oera & |
Choose the alternative which closely resembles the water image of the given combination.
BKS50RPG2

BK20HbLES

4.

T i & s e e Ry E |
hapllesh T 3% & cloudburst

srenchoch =1 378 # pinball

resbosrench %1 374 & ninepin

e w8 1 319 “cloudnine” Bl B R 7

Here are some words translated from an artificial language. -
hapllesh means cloudburst B,
stenchoch means pinball :
resbosrench means ninepin
Which word could mean “cloudnine™ ?

haplresho %

41.

5 1§ et #f ok B & 7

How many triangles in the given figure ? (o

0l

10 .

4.

. You have to take the given statements to be true even if they seem 10 be at variance from
. pommonly known facts. Read the conclusions and then decide which of the given conchusions
“logically follows the given statements, disregarding commonly known facts,

Treferae s 3 we fow o 8 s 1 el & wie P fog 10 8 | 3t 2w e st = we
A % @ 3 el el & e st 29 6 | Pt 5wl o R it w5 R m
el 2 s o e e et 1 3 e g R e o6 e T A s wm
4 '1."*;..'
o : o el B el e o € 1w R B
frerd: (1) whdam i
(L1724 0 e B F3 # |

&ML 3 () SgEE R E |

In the following question statements arc given and these staterments are followed by conclusions,

N

Statements : No strawberry is a kiwi. All kiwis are bananas. All bananas are apples.
Conclusions :
(I)  All kiwis are apples.
(II) At least some apples are bananas.
Both (1) and (II) follows.

CTS (G.S.) E-2016(Common Qns.) A3 6 .3 MASTER



45,

43,

e T I e G e i IE WG 2 e w0 B | s e 8 A ) A

i hifa e fu e wieg < el o i v o E T A 7
Find which one word cannot be made from the letters of the given word 7
TOURNAMENT

MANOUEVRE

e A #, e S Freet  faram it oft w6t o e A @ ol dRe A 0 e B
CREECc R R e R T
T () " whEe el d
(1) weft sl qEgma ¥ | %
P (1) avft e g E g
(1) o wafma wfimm ) e
Rl e (1) 3t () sEEm R E | ;
In the question below two statements followed by two mm]usm@&e given, You have to
assume everything in the statements to be true, then consider the two conclusions and decide
which of them logically follows beyond a reasonable duy,li the information given in the
statements, AN
Statements : (I)  All the actors are girls, el
(I1)  All the girls are beautiful. '
Conclusions : (I)  All the actors are beautiful »
(II) Some girls are actors, .
Both conclusion (T) and (1) follows.
e T 3 e, e, e, =g sk
% e mfeemd & P
A party consists of grandmothér, father, mother, four sons and their wives and one son and

two daughters 1o each of the sons. How many females are there in all 7
14 L)

YT WE A 1 U YA g1 gt | =

46,

AFFHT [ General Awareness)
a1 Fﬁﬁ‘ﬁﬁﬂﬁﬁﬂmm% 7
26 98T .,

When is ‘Enn_si'ltutlun Day® celebrated in India 7
November 26

47.

Indian origin Krishna Vavilala received which country’s Presidential Lifetime Award 7

AR 1 o FoT ATt ) o oo o SR sEweTes T e & 7

USA

TR & HHY 1 P A d B W e e ¢

HHAT

Which of the following part of the Sun is visible at the time of the eclipse 7
Corona

9
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49.

a8 g i fe # =weren 2 R -
A

The non-metal which has a shining appearance is
Todine

St

WG < et S gl % qel v derer i agEre e o i e e 7
e NG

India’s first and the world's second Infantry Museum was innugurated in which State 7
Madhya Pradesh

51.

T 1 1 wmen i i iz ‘el SERT (KALY ANI FeRRESTA)” Eﬁaﬂwrnm 7
W

Which country’s first Green Steel Brand “KALY ANI FERRESTA™ is hl.]l:lﬁl'lﬂli 7
India

32,

e, 1 iR =Y A ws R, R - "
T {

The Veda, which is partly a prose work, is
Yajurveda

ﬁmﬁrﬁaﬁﬁﬁawﬁﬁr&waﬁrﬁhaﬁf
AT

In which of the following sects was Bmdum:a interested 7
Ajivika

54.

ﬁﬁ%ﬁaﬁﬂﬂqmmﬁ%ﬁa@mmm%mﬁmwﬁmm?
o 3w Al

Which of the following, was the main part of Aurobindo’s programme to achieve
independence 7 O
[illﬂ Mark % y

forer 4 1 JSW 2 32 100 9 st et wfre 4t 7
it

Which bank aﬂ‘qmrnd a minority stake in JSW Cement for ¥ 100 crore ?
SBI,

5.

Fretfefian 2 s  shre ol e 3 o wal aned A B -
| T I8N

The most ideal region among the following for the cultivation of cotton in India is the

Deccan platean

57.

e T TR |
e

The Salal Project is on the river
Chenab

CTS (G.S.) E-2016(Common Qns.) A3 8 MASTER



58,

Fepar aveeter werelie ) e 3 i Fies w1 T 2w A S A R 7
dt.&, 3w

Which Indian athlete is known as the “Queen of Indian Track and Field” 7
P.T. Usha

9.

perga 2022 3 Wi A FAefern ) wue fEu gean s SiE w o | gree aiE SEn
& e & o wEitE 2 7

63 :
India defeated Australia to win 3% Sultan of Johor Cup in October 2022, Sultan nf‘]s)]:m Cup is
associated with which sport 7 &

Hockey

Frvfefere 3 & el 9 5 2 31T Fex o wrfoen o 7
fads e g L7

During which of the following war Indian National Army was mmhi'ad ?
World War 1

6l.

T it ot Frferfin o & fired wafim 2 2
afera wefa

The Himalayan mountain system belongs to which nffﬂw fu]]uwmg 7
Fold mountains

62,

m@#ﬁﬁmﬁmmmﬁm%ﬁmm&wﬁﬁﬁww 7

Indian-origin Leo Varadkar was m—elgnh:ii as Prime Minister of which country in Dec.
20227
Ireland

63.

Hiferh et a&ﬁﬂnmﬁ%ﬂﬁlﬁ%
WA~ TV-A o

The Fundamental I]uuﬁ'amnmltmrﬂ:[ in:
Pari-IV-A 3‘ /

Frferfiaa 3 4 15 A1 a=se ToEd Ue @ gt £ 7
Which of the following Article is related to Panchayati Raj ?

Fa/Article 243

' In pursuance with the recommendations of Narsimhan Committee, the RBI has framed new

eRreEe PR <61 Rt 3 ST 3, RIS 8 e~ e oo B
A\ ghﬂmmmm%mmﬁﬂ i 3 et 35 v 1 P et 3
" |

guidelines
to govern entry of new private sector banks to make the banking sector more
competitive.

9
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EUE-2 [ Section-2
o= T %12 [ Trade Subject Code — 01
@ﬁf B %M / Instructor, Leather Work

Forerientam 5 B =i ot o sfirend ai srersia sl & e deg 20

il

Which of the following layer is present between the epidermis and the subcu{an-:nua
tissues 7

Corium "-

67.

T fers aﬂwm#ﬁaﬁ%ﬂmhﬁmﬁmﬁmﬁ%ﬁmﬁmﬁﬁﬁﬁﬁﬁm
ferftr =1 3o fRn = @ 2

Tiremfer

Which of the following method is used to remove wool fmm ﬂ'le sheep skin by soaking in
solution of sulphuric acid and salt 7

Pickling

Toh

ﬁmﬁmﬁﬂm%ﬁ%%ﬁtm%m%ﬁwﬁaﬁﬁﬁﬂﬁwm#mﬁw |
ﬂ%mmmw%m@mmﬁmﬁﬁ?
iR e

Which of the following leather cc-,mpf*i'saa of 90% to 100% of leather fibres bonded

together with latex binders to -:rr:gmu look and make similar to that of leather at a fraction
of cost 7 ,

Bonding Leather

PR 313 e < e P Fe 2 3 gy el e A &
"rgasrwaﬁamﬁ%mwh
LI W)

Which of the ﬁ:[lﬂwmg leather has a special characteristic known as “goose bump” look
hecausrg uf the large follicles where the feathers grow 7

ﬂatrlch Leather

70

.Eqﬁwmauﬁﬁam&ﬁméz =1 %, Fiees 3 T & ) Feffem 1 8 feg dof

“affaa foren  wrwen 8 7

BV S92 1 W (e 2 )
The personal leather goods such as wallets, key case, notecase and passport case can be
classified into which of the following category 7

Small Leather Goods

9
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T1.

Frerfefign 3 & form Iehide 3 S iR siofera oie ot e = i R a9

T S

In which of the following presidencies the East India sheepskins are tanned 7
Madras Presidency

saefeen syferamet 2, g, afio, afmaﬁasmaﬂtmmmmmgtwﬁmﬂi-.
Faftw i werm = fae Feffen f s d e ge findz ¢

oS

Which of the following scherne is launched to assist entrepreneurs by pr-:]wdmg modem
infrastructure, technology, training & skill development and human rtsm;p;u d:velupmem
inputs 7

Mega Leather Footwear and Accessories Cluster Developmient (MLFACD)

3.

Tt & © i o1 weg @ Sl S e, ﬁﬁmﬁ%ﬁaﬁ_mmﬁm% 7

Which of the following term applies to the pE:liS uf hfger E:n:ash such as cattle, buffalo or
horse 7

Hide ¥

4.

mmﬁﬁmxﬁrwﬂﬁmﬁ@ﬁw&muﬁaﬂgﬁﬁu&mﬁ *
Y T 1 = B
HifeT o ?

The process of rerﬂ::n.rmg d!.mg_, Raith albuminous matter fiom the skin and hides of
animals is known as Ve

TS

ﬁmﬁﬁﬁﬁﬂﬁﬂmﬁmigﬂmﬂz%mﬁmﬁaﬂﬂmﬂﬁﬁmﬂz%maﬂ%ﬁ
mmﬁlﬁt?

ﬂf&'ﬁj’ "
Which bf the following operation comprises of pressing the leather against a rapidly

revalving cylinder set with curved blades 7

Shaving

76.

Forrfinfiam 3 & 9 @ wen i ot ufife Rl = IRy & 7

uof 3
Which of the following leather is available in the form of aniline and semi-aniline finish 7
Full Grain

3
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'TT

mﬁﬁmmmmﬁ}m#mﬂﬁmtﬁﬂmmmtmm
w0 # e i R aga S e d ol a2

S TR

Which of the ollowing product is made by Chrome tanning cow hides also technically
known as box and willow sides 7

Lace of shoes

ﬁnﬁlﬁﬂﬁﬁﬁﬂmwﬁﬁﬁmfﬁm mﬁmmﬂ%mﬁ%gﬁmaﬁ
HIIAGTHAE 7
HEPT Gt it wne (e A e SHif) o

Which of the following scheme aims to provide infrastructure upgrm'lalm'n of campuses of
Footwear Design and Development Institute 7 .

Establishment of Institutional Facilities

‘l:_.

T

9.

mmm%mmﬁ%mmmmmmW%v
Tt m

'~|-"

Which of the following material 18 NOT used for” '-.'.’.p@cmhlc Tanning method 7
Chrominm salt O

80, UE Uik 7 wowGe v % i whe Mﬁmmmt o1 B w5 IeEn

'ﬂﬂ'rﬁt,'ﬁ-'f FEH | .*r-.:l"

A process which utllm:s -mml:mlz-: and vegetables or two mineral tannages for tanning
process is known as “--a.

Mineral Tlnniryg?

81.

Frrferfim i & R iy 3 =3 & Aot 1 e w01 3 fore et 35 e (o)
A e (o) ST 7

% T, ; : : : . 3
In.which of the following method the leather is drummed in an emulsion of oil to lubricate

~the fibers of leather 7

Fatliquoring

81,

Ten=rferian 5 ¥ fopm =g =i W W HTEH I9 T 9 g 7
witT (s A

Which of the following leather has an artificial grain applied to its surface 7
Corrected Grain

Y
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. Fom wwg 1 S T, T SR e TR A W HT T AT S G T o
Tore Fora st &, 30 & B H S A B
i P

The leather which is used o make soft coverings of the chairs, furniture and motor car
cushions as well as interiors is known as

Upholstery leather )

84. TICITEIREH o § i W1 IR I o I S N U O S S 8, T %ﬂﬁ‘aﬂmﬂ
30% Hieen T E 7 o)

Which of the following industry is a prominent source of emph}'ment in t}ﬁ&"mml parts of
India with women employment at about 30% in its sector 7

Leather Industry '

g5, TIEIleiEE 59 i A o :m}@mm%mﬁmﬁaﬁmwm T

i e, ol s ame sei & o a5 fifim ey

AT =ET 3FTE TR ,m:’

Which of the following institute was established {5@1 as a not for profit company whose
main objective was to train the people for anvﬁw:-f Garment and Goods Industry 7
Indian Institute of Leather Products

86. ﬁﬁﬂﬁﬁhﬁaﬂ{mﬁ%a@%wﬁqﬁ%mﬁﬁmﬁﬁi M &
Y W S S |
e (fodfeedidt) 0
A characteristic that allows moisture and air to permeate through the leather is known as

'-."'|

Brﬂﬂ'tﬁﬂhl]ﬂ'f (™

87. mmﬁ%ﬁﬁm%mmﬁmﬁmﬁm Tl @11 &1 @ (3ot &
uﬁaﬁﬁ:ﬁmm% o 9 T ST A

e,

A pmte.gse'lj%ai for parchment or leather processing, in which hides are soaked in an alkali
solution is known as
' Liming

88, EroiEa 5 4 em i § STah TanE ) T S0 5 e sere B A ar @i
© o e el e & 0
S

Which of the following process comprises of pulling the leather over a stake set in a
ground generally used for softening the leather 7

Staking

MASTER Prrim 13 A3 N




89,

Frfeafian o @ fopm =ms =1 R S W & 7
i

Which of the following leather is known as stingray leather ?
Shagreen

Frerfafian & @ fre I 1 3w w02 % e & gl ﬁmﬂ%qﬁm%mﬁmmﬂi
27

A §
Which of the following tool is used for finishing of outer edge of leather gn-uds ‘hu

Crease

91.

aﬁmmﬁﬁmw%mmwﬁ%mﬁﬁwﬁgﬁwﬁﬁﬁmﬂ%ﬁ
TR B U e g

AT (ERTRR)

A process of thinning leather by sha!.-'mg off a few layers Emfp its surface to make the final
product thinner with better quality is known as T

—

S .
Simrmg @

l "'\.
N W

92.

Fr=ferfim & v ke 7o o Rafim o m%@qﬁmﬁm% afrﬁﬁrﬁugaaﬂrﬂtﬂa
e HweeE & sflewde i g B
et Brer v A

Which of the following tool -:n:rq:-ri:sé; of different standard sized hole punches set on a
wheel for quick access and hnleiﬁizg_"::hangm ?
Rotary Hole punch N

93,

ﬁﬁmﬂﬁﬁﬁamﬁ%ﬁmiﬁwmwh
dier @fem)

Which of the followipiz term describes the aging of leather 7
Patima "

94.

E |

e 38 e et e T @ e el T & o e 6w et a7
ﬂhﬂﬁtﬂ.ﬁ!ﬁm

W:hm]l of the following is comparatively a thin layer which forms the upper boundary of
. the skin 7

Epidermis

95.

wmiFm el R R i S s awm @ swwdamamd
T

A process in which the surface of leather is engraved with a pattem is known as
Embuossing

Al

0 ok Bl 14 MASTER



o6, Frerfelias 1 8 s e s weeR o e o weE e e e g 7

S e

Which of the following leather is the lowest quality amongst all othet types of leather ?
Genuine Leather

mﬁﬁgﬁﬁﬁtﬁm%mﬂﬁﬁmﬁmﬂﬁ[ﬁwﬁﬂmﬁmmmmiaﬁﬁﬁ
oo E, Bl wEd R
TRFRE TRT

A split leather with a layer of polyurethane applied to the surface and then :rq!:g}"satd is
known as .-'3
Bycast I.-eaﬂur & 4

ﬁnﬁrﬁaﬁﬁﬁﬂ%mﬁm%ﬁﬂ#hgﬁmﬂuﬁmmﬁﬁfmm&ﬁm
Tafire watefi fma =i g we, sl Fem £ gl fm:mﬁmmﬁ i w1
27

Which of the following program aims at dl:mln-pm:nf“ﬁf' mfrastructure for the leather
sector, address environmental concerns specific 10 the leather sector, facilnate additional
investments, employment generation and increase in production ?

Indian Footwear and Leather Development ngrammﬂ (IFLIDP)

99,

qmﬁmﬁmﬂmﬁm%ﬁmﬁ%mmwﬂm%ﬁt 3
_ SeATmeE A
o () AT
A process that temporarily ﬂlln'ﬁ.qs transpm‘t and storage of the raw material of leather 15
knownas . »

L=
Preservation by, S

100, m%maﬁﬂ%ﬁﬁmﬁaﬁaﬁﬁmﬁ  weqdwmamal

Fﬂ}'ﬁﬂlﬁ

The process nﬁ i‘Emuvmg hair from a raw hide through the use of chemicals is known as

|'1|

.L'.lqtlng

MASTER 15 Al
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HUE-2 | Section-2
8 B %1% [ Trade Subject Code - 02
W—%Eﬂ-ﬁﬂﬁﬁﬂf X-Ray Technician
TR B (offective dose) i Sl SFR FIE 7
Hiwe

What is the ST unit of effective dose 7
sievert

7.

Tereft T 1w orea 3 weeen s 1 e &
Wil =t A e S =gl o - s ge)

The Isotopes of a given element contains \
the same number of protons but varying numbers of neutmm. -

tiaamwmafe e s oesmadiw i,
HeTE® 6 i =

The magnitude of induced current depends on all &xu,.:rpl, 2
The thickness of the conductor

69,

ﬁmﬁﬁmmmMmﬁﬁaﬁmmﬁ%ﬁmaﬂﬁﬁ 7
TR TR

Which of the following exposure timer is su.lmble fﬂT‘ interventional procedures 7
Electronic fimer

T

O Bl g % g -
mﬁﬁfﬁmmﬁg AFRAFIR |

In accordance with “line focus pnnu;:lple”
effective focal spot &iﬂ is less than actual focal spot size.

1.

Frferfigs fi s v <1 ek el o w0 8, fme
- AT

All of the following factors affect the X-ray emission spectrum except :
X-ray tube material

72,

mﬁ@mﬁmﬁﬁnﬁmmmmﬁ feama:
mﬁmmﬂmw—‘tmﬂmqﬁﬁmﬁmtl

Ml ofthe following statements are true about photocleciric effect except :

The probability of the photoeleciric effect is directly proportional to the third
power of the X-ray energy.

73

GIERIUERIE AHE R R |
FFATERY] G i TUTESE HF TET
Image quality 15 improved by :
Keeping the exposure time as short as possible

¥
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Tl =5 9l T o wdiee o wew i Pt 3 8w o st wd B 7
v wehed 3 gem w3l O o e 2 S wr s |

Which of the following statement is comect reganding compression of anatomy of patient 7
Improves spatial resolution and reduces the patient’s radiation dose.

75, Fre 3 5 weft T v B, oA
az fir

All of the following are grid types except :
Closed grid

mmaﬁﬁmﬂtﬁmw% 7
1 i TerE o wwy o iR 3 e el o e

What is topographic anatomy ¥ g
The study of deeper parts of the body in relation to the skin PR g

Wl % g B TT0! T T TF 98 2 T a fﬁmﬁmﬁﬁﬁmﬁamﬂl%
ey gt aer

A plane passing through the centre of the body dividing it intay twn cqual right and left
halves :
Mid-sagittal plane

] .__

78, S T w2 AR :,;-

MNumber of tarsal bones in the body : T
14 -

. mvﬁﬁﬁwmﬁtﬁmﬁm%:
Immovable joints are also km::w:: Hs
Synarthrosis

80. Wﬁﬂﬂﬁrﬁfaﬁrﬁmﬁiﬁmmm:}mm% Tiram
e wigafimt

Skeletal muscles are h:m;wn !:-y all of the following names except :

Involuntary muscles

B1. e sfeha vy Ry il il 1 Fmior e &
ey
The printipdl process by which ATP is formed in the body is
Oxidative phosphorylation

82, ﬁﬁ%ﬁaﬁrﬁmﬁuﬁ—#ﬁﬁmﬁwmﬁmﬁmi foam
AT

All of the following are amino acids with aliphatic side chains except :
Threonine

83. Tt SIUERIST 2 TeTT T & ;
e e
stimulus for Ruffini corpuscles are
Sustained pressare

¥
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84, wEn e Y E

Y (SA)
Cardiac pacemaker Is :
SA node

85.

Na++ Hlaa =9 ¥ gach Afernt o vt Wil & =t & s m%ﬁlﬂmaﬁ%
T % T % v fae

Ma++ 15 actively transported out of all parts of the renal tubule except :
the thin portions of the loop of Henle

86,

T e e 7w 30 & X
Tt i e i & v o T v T A

Cross-over in screen film radiography is

The exposure of an emulsion caused by light from the opposite radiographic
intensifying screen

w1 feen it e ﬂﬁﬁﬁ%mmﬁhmzﬁumﬁﬁ (3 = B =,
O R AT R _}I..m_
oy feme N,

The light emitted must be of proper mw-]r:ngth (c:rlmr} to match the sensitivity of the X-ray
film, this is called : )

Speciral matching

Fape e i sps M s o

SPS m computed radiography ﬂmﬂ;fhr ;
Storage Phosphor Sereen

9.

et st e 35 Hae. o TR 3 8 i H T 8 2
i&ﬂﬂﬁwﬂﬂmmmmﬂﬁ 3-4 52 ¥ gfrinfiea vl sieee o i
wEndl

Which of the ‘ﬁ'ﬂhwmg 15 incorrect regarding barium meal examination 7
The-biirium contrast medium normally reaches ileocaecal junction in 3-4 hours

90.

wﬁ&{ﬁm}mﬁ%mﬂaﬂtw%
- i o i e R TR S-10 A

S ﬂwpmhahlﬂmfmpaﬁnumgl{ﬁ{:m

First 5-10 days of the menstrual period

At fafrr Sifam =1 s o il = o T i s e
e & =

The most resistant phase of cell cycle in view of external radiation exposure is :
Late § phase

9
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92. T WA o e sma w B
of 3t
The threshold dose for skin erythema is
Full Mark

03, BT BRI WA 05 M o el & ;
(A) 3R (B) T
Haematologic syndrome 15 characterized by :
A) & (B) both

04, % :
Ty = v (SRR

Radiodermatitis is : Ao
Stochastic effect of radiation

95, NCRP &1 35 § e
“rpret e 3 iR i UE teie N

NCRP stands for : §
National Council on Radiation Protection and anlﬂmm&nﬁ

o

96, 101 1 4 9] AR R el Heth & Toeh] SUaHT T et SHIa B ohaT ail 2, T -
All ofthe following are radiopharmaceutical agents um].h]{njn:}r imaging except :
GLUT

97. Technetium- wmﬁrﬁa’rﬁﬁﬁmﬁtﬁmm‘ﬁ ﬁﬁm
T g

The elinical use of Technetium-99m e, nIl‘u[‘the following except :
Breast imaging

o8, hmﬂa{wﬁﬁﬁ?ézqﬁﬂﬁmaﬁﬁwﬁaa

wen wEdt gt

MUGA (Multiple Gated ﬁ;qulsltmn} scan is related 1o :
Cardiac im

99, ﬁrﬁiﬁaﬁﬂmﬂq’gﬂ arelih 1§, e
AR (MROP)

All uftha fﬂl!—ts‘r\ﬁng are ultrasound techniques EXCEPT :

mﬁﬁwm:ﬁhﬁwﬁﬂaﬂﬁ feram s |
-\ et e Y v w6 g i Rt 3 meud v aiftes
L el gt & |

All of the following are true regarding harmonic imaging EXCEPT -
The harmonic images of soft tissue tend to have lower contrast and more
artefacts at depth than conventional images.

3
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Tl SRR 41 Ao e %1 / Govi. Tnstructor or Instructor of Civil Works

66. AufT wfisa O wehle O atma adles Relw | Sendfmmema i

The maximum compressive strain in concrete in axial compression is taken as

0.002
67. | 58 (bars) % Te7u T2 o= w1 ge §dfte 1 22 o fo SR SR S |
The value of design bond stress for bars in tension shall be increased by ___’ﬁ.‘lf bars in
COMPTEssion. p

25%

68,  SHIeTR N THIET FETS T A W6 Gl B R 30 g aﬁ%ﬁﬁ;ﬁmﬁmmg 7
What is the effective length of column when both the ends are rml{ﬂm&d against both
translation and rotation?

0.65 L

9, hiaTEg e o1 WA A S, ﬂlmﬁmaaﬁﬂaﬂ#agﬂrmgqmm 'l wg H
2

The effective slenderness ratio of laced column i is umre.asa:l by percent of the actual
maxnuum slenderness ratio.

';_ " '
ﬂﬁﬁzﬁiﬁtﬁﬁqﬂmﬁgﬁmwﬁwmmm EATE |
The size of cylindrical test sp::u:mav:n usad in compression test of conerete is :

150 mm * 300 mm

7. W%ﬂﬁzﬁﬂwﬁﬁsﬁ@m W1 e HiE WA T AT |

A cement with low agment is found effective to prevent concrete from sulphate
attack. "
A

",

72. aﬂﬂmqﬂmﬂﬁmmﬁ:mm%m#&m%?ﬁw%mﬁw
W | 9, "
mﬁqm
Identify the type of slump when one half of the cone slides down while performing the

workability test.
< Shear slump

73. ﬂgﬁtjﬁﬁqﬁwm__ﬁmmﬂ |

S wid,
Honeycomb brick work shall be measured in

s m
74, TR Fhlc o [eT0 Fohie B Al FIIR T A7
Which proportion of concrete is suitable for plain concrete?
1:3:6
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15,

50 = stz el S 6t dreme 3 fore Faet 421 <) s Bl 7
How many bricks are required for 50 sq m half brick wall?
1500

T6.

T At it & st 1 e fre o TEeE A

Identify the correct option in context of uniformly praded soil,
DEI pd Dlﬂ

T

B T e s—

A plate load test is carried out by using bearing plate made of mild steel of thu;k.qlﬂss not
lessthan

2.5 cm "f.’

T8,

15umﬁm#ﬂm%m%mﬁmﬁmmaﬁqﬁahﬁaﬁm

The distance between two manholes on straight alignment for dmmntuz of sewer ahmre 350
i is about : .t

300 m

SfEre wE § A e mgﬁﬂmﬁﬁmﬂﬁmmﬁﬁﬁmmm
FORC DR .
The removal of colloidal and dissolved organic nqner‘pr&ﬂem in waste water is done by which of the
following treatment process 7

Biological growth o

udt v fas &1 veam =)
Identify the correct mandatory Eiil:l._\:‘ '

S

TH. LW (M.D, E_}a-:m;:lmclw’g?
wr fe 0

What s the ﬁallchrm crfM D.R.?
Ma;nr]]i‘u;ﬁ:t Road

82,

*FEE % G 18 = 1 B o154 g At e o 8, aandl gl @i
el 5 & s

Wheti-chain is stretched out of the survey line during chaining, the measured distance is
always be more than actual distance

s T e e e e L,
ﬁﬁmﬁ;%%| i B i

wier

If the survey is intended for detailed design work or for accurate earth work calculations
then contour interval should be used.

3
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B4, 30A daH < T ages
qﬁliﬁmaﬂmﬁqﬂmwm
The open traverse is suitable for
suwamngn lung narrow strip of land

85, ﬁ'ﬂ‘!ﬁaﬁzmﬂ W A e waaRE R |

While perfncnﬂmg survey by using theodolite, the theodolite is supported on
tripod

86. AT §AN o fe7w Hig] 1 AW I HIE a7
What is the minimum required width of stair for residential building?
1000 mm

%

§
i .
a—_ .

w4 fran

house? ey

L. Roominess =%

#7. mﬁﬁﬁmﬁmﬁﬁmﬂw%wﬁﬁqmﬁwﬁﬁﬁﬁqﬂ@%ﬂ%?

Which of the given options is incorrect with reference to factor mﬂurmn::mg sanitation of a

88. few my formet 3 8 @get % g feamem 1 waq &L | iy
.u-. ok
Select the input device of computer from the glwg,pphun&
Mouse

89. afe ves Hidl 6 g o wen N R, a‘rg‘lﬁiaﬁ‘rﬁm & w0 g |

If a staircase has ' number of risers, thf: sismber of treads would be equal to
N-=1 o

90, e g | ,.::r.,_‘:- ;

Yo +ffa =t worgm F
The underpinning is the.pracess of

strengthening an existing foundation
91. =gal (sunshade) A 56l o fory srava 2 |
il e st e g i v e A
A groove:- m;mnshadc 15 NECessary to
[.1_r§wnt rain from ereeping and entering the covered area.

92, ﬁnﬁﬁﬁﬁﬂﬁ#mﬁmmu@mﬁﬁ%m% i
O Raweht
'ﬁl‘hich of the following is a type of natural ventilation?
Window

93, et s g e % o smeves ape ava wma b
STHITETE] e

Oplimistic time

is the minimum possible time required to accomplish an activity.

Y
A3_03 i 22
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04, TAeferiEn o o e g o e el e v

A 5
Which among the following fluid possesses viscosity?
e Rﬂl nlll-.l =
95, FESIeR NEUL e I AE |
T B i 2en e

Hydraulic pradient line is the sum of
Pressure head and datom head

96, UHEITH A8 QAR Ao W o
= it vl veen & s € | Py
Aquifuge is that geological formation which &

Meither contains nor yields water ) ¥
CA"L ﬁgﬁm%mwufmﬁmmﬂmﬁﬁh &

a1 1 U HI T 1 E |

A factor of safety of is considered for sites nf hnmé.r 'mutdmgs or structure (o
determine safe baring capacity of soil. s

258/ 10 3

98, waﬁhﬁﬁnﬁﬁﬁﬁkaﬁﬁkm&mmﬁﬁ%ﬁﬁw%mm
AAE | _
T ()
15 used in brick masonry for I:ftln,g and spreading mortar, cutting of brick and
construction of joints. v

%

Trowel
09, mﬁ%mmﬁﬂwﬁﬁmmmﬁ%ﬁﬁ%wﬁmmﬁ
HEEI & s
22 (wiftem) ,_'u’ )

A lower part of pla,st‘g-.f‘bd ‘wall where special treatment 15 given to make it better resistant 18
knnwu as

100, m'ﬁﬁgﬁr%ﬁmﬁﬁﬂﬁﬁﬁzﬁﬁ%mqﬁaﬁﬁﬂﬁmﬁﬂﬁmﬁ
(St R e |
| e (G
-~ is the exposed vertical surface left on the sides of an opening afier the door or
s window frame has been fitted in position.
~_ Reveal

s
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EE-1 [ Section-2
¢& T %iE /Trade Subject Code — 04
e ieeE wef S Power Loom Machine Maintenance

R 3 i e Wi w0 (v o ) w o w3 el foem S 2 |
EE:

Shuttle less looms in power loom industry is classified as
All of these

67,

arerfiver et &t s ¥ fepsfore Teman o wewan & | \
i, Rt ot e ara Ao %

Primary motions can further be divided as ; . A
Shedding, picking and heat np motions

68,

TEH e H W HREFRLEE R v
LE: ] -h!.;:-
Plain weave fabrics made with the help of Power loom are '

All of these

".l

wﬁﬁmﬁ{ﬂm}ﬁmﬁtmmwmmmm
T |

——— T

Power loom required stronger warp yarns for which ﬁrs; m,gtng machine was invented in
1803

70,

wﬁamﬁ@ﬁaﬁﬁﬁaﬁmﬁﬁnﬁﬁﬁm T U weniom ®9 @ wae A1 @ |
b |

Automatic Shuttle loom is the power up&ga[(ed machines on which the are changed
autumuuenmr

. g@:aﬂt%aﬁymﬁﬁgﬁgﬂ@-ﬁmmi,ﬂ 2|

i A Fmes = aﬂtﬁ’hﬁw % o e ofk wiere s e & 1

The mam difference which di izes woven firom Non-woven & kmitted fahric 1= the
Crossi _ nid under which provide stability & resistance to deformation.

72, {=
# Tt At (ard) & wrr el o |
What does a m&@‘pl;n indicate 7
How ma rp yarns are drawn through each dent
73, PEsiasdR R gu s T waE % & i i (0 |
TR g (ot far)

Fabrigs made by rib and basket weave are classified as :
;o Pladn weave fabrics

4. S Tl oY e, S T T ST AT i e R e |

| mmlajmmamﬁmmm@m_mummmmm-
75. wmﬁé;ﬁ!u;g;ﬁmﬁﬁ%wﬁiﬁrﬁ T Frerfertan Fan e
The prq:Tr::liun of warp yarns for weaving on power loom involves steps which include
Al of these
Y
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76, Tt = Tt 2w sl & Pedo d e 2
LG
warping is used in manufacturmg of denim fabrics,
Ball
77, HEE SV A S A 2 o e I E
et
~creels are suitable for both sectional and direct warping. A
Trolley AN
T8, RN H e SR A S | -
et o i ,
Water soluble sizes create problem in : N
Water jet Y
70, HTE A, 30H W TEE T IeITEEA, e g AR R w7 Ly i
it forre w6 den _
The ap::ﬁ of a loom, and thus the loom productivity, is designated by: - <, >
umber of Weft minute '
80, qgﬂﬁ#‘l‘m,ﬁmm ok mﬁﬁﬂﬁwﬁmﬁmﬁmm%f’
W THE (ISR )
In which type of loom projectile is used to insert the fi t']lmg. ylffth
_ Projectileloom 5 S
8. wham, mmmﬁm@}%ﬁﬁ%ﬁﬁﬁ (37 el W) 1 Wi 7
P L N
TE (TiERREE ) -
A is 4 small, light griper device., tha't. Is pmpeltﬁ:i across the loom, pulling the filling yam
behind it ; *
Projectile &
82. mmaﬁtmﬁaaﬁﬁm#ﬂhﬁ w1 o e T |
TR T .
Because of low pruduntm;t ihiﬂﬁ!uml.cd versatility it is replaced with
airjet loom -
83, an wm w3 T (FRmTE =) % e e ol w1 s w59 % B
__w=vEm 1 I w0k e I R
E L E
] d to produce technical textiles for automotive indus usi high
E:E&;hw B RS ——8
iﬁﬂ!ﬁr
84 T30 1 ST ST %6 FATS T A 5 (1, (o6 ] B o WS o (70 AT o 41 T T

Y A (e

crimp is used to decide the length of yamn that needs to be placed on warper’s beam to
WEANC.

War
warﬁsms,:dwﬂ?ﬁ#ﬁirwaﬁﬁ whEEE |
Bl (wew wgEn) i (i agen)

Features of Automatic weaving machines include ;

Bath (shuttle changing) & (pirm changing)

MASTER =L - 25 A3_04



86, ditam wall FoEn wew o WE & T @ Ve 9 T A 0 6, 96 S o ifim

T e # |
TR

Weaving machines in which shuttles travel on a circular path through the wave shed are generally
referred to as * weaving machines’,

chreular

87.

?m%nﬁﬁm%ﬁm{m}ﬁmﬁﬂﬂgiwﬁﬁﬁﬁﬂm%ﬁﬁﬁ e

| >
dudd

Single phase machines are classified in accordance with their weft insertion metheod uﬂuﬂﬁmmdﬂs
All of these

e T ')
‘Ir.'FI

. T SE o 3 A e 7 5

o0 firdk i 40mm LIV
The standard projectile is long and weighs only _____ oy
90 mm & 40 gms AN

mﬂﬁﬁqﬁaﬁqmﬁmﬁlmﬁ _ gmemmmmen) o
Quick Style Change was first shown by in 1991, 4%/
Picanol '

ﬁaﬁgﬂﬁﬁhﬁrﬁﬁsﬁﬂﬁaﬁﬁzwmﬁﬂﬂ%@ﬁﬁr@%mﬁwi
ot a wE

Jet loom take the filling yarn across the loom h:,- liugngrn high speed jet of
waler or air

91.

mﬂza@ﬁmmmmﬁmﬁmﬁmmmmﬁﬁﬁs
it

Adr jet looms are used hmaﬂﬁMm&WMmMMﬂm
All of these

oz,

mh@mmmwﬁ ?
AT

Water Jet looms arc I: ﬁuumble for
nylon =

93.

s T e 9 P T fon e

T Fu w02 1 Ieen o gfe W e
Multip] 1 was a technology introduced to

' imerease the production rate of woven fabrics,

94.

Wzﬁﬁ@mmm__@ﬂmﬁﬁwm |
S

") Simple 2 ply yarn will be more stronger than the yarn with same composition.

All of these

05, =z % urge Yl @ o w9

T % T w1 e A wee Rl o §
Mapped fabric is different from pile fabrics as
nap surface is developed by brushing up fibers of the surface.
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96, WA @ = 200 o T fisfem ad AT E |
e i Ywehor

With machine made tapestry, the filling yarns are woven from

_ Selvage to selvage
97, WU R |
wHT (E5er) .-
Khadiisa  fabric. Comi
Handloam ¥
98, 4ar e ) e A, wvd, Paw i s wi & Q)
T (o) i s < T & SR ¥
Jacquard desipn cost is mare than plain, satin, twill because : N '
loom set up cost vy
99, S ST WA W 3 e wafi e e ) I T |
ELl &y
Adrjet weaving machines typically produce cut selvages rei.nfnr;g;l Wwith
_Leno A
100. 77 B, %98 T 50 HIS] H e B § wiiH 5 i E |
a4 e e (i ) ¥
Waven fabrics are different from knitted fabrics as they involve :
Inter placement of varns k 't:'f_'“
9 A
e
o, W
-l
.r!'_f.t :
N
(o
MASTER 27 Al 04




b,

WUE-2 / Section — 2
¥ A %1 /Trade Subject Code — 05
Few B v fildn [ instructor Drawing and Printing

e St (RIP) ® 9TH e e S e ad a feiE s s e
fepan i 8 |
oo et (el

is used to record visual information received from RIP onto plate.”
material. ';.
Laser Technoe :

67.

Bla a7 F o w%mﬁt&mwﬁmm:ﬁmtl
Fr v e

does not use direct mechanical contact with the pap_ea:m create image.
Non impact printer

Torfire Tiftees TmiTe geilie (dra) STeRT Uoh TVIaH JeaTg, ST A1-EaTTh ol T &0 8 A1
yufes e @y wnafs %mﬁmﬂﬁmﬁl
#im

Distinctive graphic design element often mc]udirrg;::prés&nlmg an organization product,
service or person either independently or ml!e-:twaly 15 known as
Logo

69.

mmﬁﬁﬁwﬁaﬁmmﬁmﬁxgﬂﬁmﬁmmh

 arler () “

compounds ::uutmj m!u:. ¢‘bwa:ctﬁlstms like tack, workability and drying time.
Additive

Ti.

T A @M{M—huﬂ%mﬂ%nﬁagmﬁﬁhﬁﬁﬁ%ﬂmﬁ%m
miﬁﬂrﬁmmw@iﬁﬁaﬁ HEI A E |
metdE )

T

The particular pﬁgg $tyle of a layout program that appears on every page of a multi-page
publication with automatic changing numbers is called
Master page

71.

U Ofd e S A A A g hed A A A |
ﬁmﬂﬂﬁﬁhﬁm}

Tu.mmg of an image as to right and left position is known as
Lateral Reversal

2.

-Eﬁm o] A AT ) A Bk o e ) aTe S A T A

e s T FEIAME |
g

Eye catching printed paper carrying an announcement or advertisement that 18 exhibited to
promote a product, event or idea is called
Poster

3
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[ 73,

ARz e 1 BH 4 T T o e 1w R, W 1 AT 2 |
wATEE T

Image area of offset plate loses its ink receptivity is called _
Blind image

74,

fatstr R weRelien 7 1§ SR IR E 7
Which screening technology has no screen angles 7 )
FM screening

75.

mn@ﬁmmﬁmﬁ#mmaﬁ:;mﬁﬁﬁmwmmﬁ
HAR I TR ET N B | D

it fasme o --.;-H*'
A form of visual communication using text and/or images to pmamt.mﬁmnatmn or o

promote & message is called
Graphic Design

Th.

et w3 v, e, g, uﬂ%m@ﬁg&:ﬂﬁﬁﬂmﬁimﬁﬁmﬁ £
 HendwmEmER |

g (R o) ”,;"-“* |

Permanent form such as paintings, photo gmphs., sculptures, graphic art which primarily
appeals to our sense is known as

Visual Art

T

ﬁﬁ?ﬁﬂﬁﬂlﬁ?ﬂﬁﬁmﬂﬁﬁlﬁ & 9 2 e e # |
Tiwm 2
Orderly presentation of visual el"ﬂmants that form a design is known as

18,

S‘jﬂ'ﬂtﬂt L ;
TTeTel Al T T % ffel SierTen bt s st % fen, B! o i 1 g
& Tl @ e et 1 Rt 1 far 2
| F
fi““ﬁ; the method of expanding or shrinking an adjacent colour area into
another arga nﬁnutely to compensate mis-regisiration or gaps between colours,

Trn ng

19.

i g Fan B

_E'imﬂde.my octavo is
562 % 875

FEEE WITE I IR HE AR T FF = o afin & w9 1 T
Einikdl
Tt
Process of expanding a compressed file back to #ts original size is known as
Decompression
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=



81, <7 o TS e ST e 1 e <) el v Wi a1 w St el % mem &

e w3 e g gfie we & e At ), FE AT |

w

The printing process employing charged photo conductive surfaces which selectively discharge by
projection of an image through a lens system is called

Xerography

82.

TS ST 5 o R A ST ) I R EER e el wE A g |
Tl

Fibrous material prepared from wood or recovered waste paper for n‘mnuhunmng p-aper is
called . L

Pulp

Lk
1 S
oS |

fifém =t vafa, Tefiee o1 weew fifin ﬁmmm@ﬁ"f
A femis

printing can also be referred to as quick, digﬂal or! clistom printing,
On demand .y

o T i 2 waEt 3 de o) sl g BT

At P

The perpendicular distance between two su;fhm of a paper is
Calliper

el AT o e e m%m&”iﬁrﬂimﬁﬁ HE = |
LT v

Printing accomplished wﬂlf relief effect caused by heat or temperature s called
Thermography W

Bo.

e fefim & {{ﬁnﬁm v e i § 7
e P (B o)

Which of l;he‘lil.!"luwmg is NOT a quality control aid ?
Gripper’ l'lﬁﬂl:

87,

m it wifta o fw Teamsm w1 3wm S <6 T e = fem o s & 2

i ) I'Which device in web offset machine is used to change the direction of web 7

" Turner bar

el (reproduction) Y 3 & vl e SR R HI R 7
IATHT (FHATEL)

Which arca is lightest area in reprodhiction ?

Highlight
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89,

e e Teiftes S Bk 2 =i g ) s Ao 0 e |, 98 e
wifes whifim

A computer driven algorithm that disperses halflone dot information in semi random form 5

Stochastie Screening

fmer  wanenfm pEgm iR g | |
T i i (el O viEm)
Diesign is fandamental activity based on 12
Creativity and innovation

91.

St ST T T e () I T (TR e e e
1 ke A 1 I R Tt

m e -"|
Ohject oriented software program use the graphic mp&h:lltlis”hf thr: to maintain
the art and type. A
Postscript language e

"‘..l"'l-

Pk eek Eois et cor oo S ‘;v
i
Measurement unit of paper in British standard is
Inch

ﬁaﬁxmﬁaﬁaﬁmﬁwﬂq&mﬁ%m 1w e SR |
BT =g

To wipe off the excess q\ﬁfﬁ'ﬂm gravure cylinder is used.,
Doctor blade

4.

T & mﬁﬁtaﬁ%ﬁqﬁmﬁmmﬂﬂﬁmmi ?
-
Which pfnctﬁ are used to print small quantity jobs 7

95.

I’Im:thi_mlymer
AT Em = e |

“Pica Em = points.
13

| o E S IR W1 ) T i (2 e ghwe) A e we wl_ wEamar g |

SAEA

To print black and white photograph in two colour effect is known as
Duotone
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97, R (Quarto) T H1 3¢ & |
S F A o 4 T

Quarto size means
4 divisions of same size

98, FATHE wie ol T @19 A (1 g Uy =g |
it =t R T

Mon image area of offset plate should
Attract water

90, ST FIFI o S 1T 1 TR i SHeRaI a1 o ey g H a:rﬁﬁmmﬁlﬁ
2l &y

!E. s .;‘I‘.-'h :
To make paper surface glossy during paper manufacturing tmammtuméded
Glazing

100. #mﬁﬁ%ﬁﬁamﬂﬂﬁmw%aﬁwgﬁmﬁﬁﬁmﬁﬁn
% form widier ot e B 7 Y, b
s A z :
Which technical control reviews digital documents tg,éhuck that they are correct and ready
for right printing 7 .

Preflight _ T
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WUE-2 [ Section-2
¥z e B8 [ Trade Subject Code - 06

FTEIE G / Knitting Instructor
66. o Tt 1 e o 31 B
AT (weft) 3 T AT 2 B AT (warp ) T8 ERA Z00

Shedding in textile manufacturing means
allowing shutile containing weft yarn to pass through the warp yarns.

67. R T A o SR e f worreft =1 W e e 2 |

I
i awfir e e e 2
For the preparation of grey warps ___ systems are used. .
Beam warping and Ball Warping Y

68, THIE THEE & S ﬂﬁﬁqﬁaﬁﬁéﬂ%mﬁﬁmﬁﬂﬁ
4 gt C '1
Public sector organisations falling under ministry of t;xﬁf:‘a inchides:
All of these

69, %ﬁﬁzaﬂxmﬁfmﬁw%ﬁmmi 2
ol o |

Velvets and Corduroys are made with }bghclp of
Full Mark

70, Hﬁfﬁgﬂﬁ%ﬁmmﬁﬂﬁwﬁqﬁ?ﬁﬂﬁwm 3

Minimum number of ham‘l:ﬂs used for satin weave are :
e

3 e
7. tﬁ#ﬂ?ﬁ&rhﬂﬁ{ (e AR, 3 wmommd
e

Fabrication muﬂmd in which interlacing of yarns takes place is called
wenﬂng

72, ﬁaﬁmmﬂﬂﬁﬁ%mm&aﬂlgﬂw% Fmgnammz |
o

’ [;ma Doria is famous for its unique square checks and is mainly woven for
All of these

73, EATGE % e 3 o e o S e w1 8, 5w d
ferrtge, =eht, werdt, siAg

Other places where Banaras brocade is woven, apart from banaras and those places are
Mirzapur, Chandauli, Bhadohi, Jaunpur
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74. FUFUN (S2e@) R IMUIH % I W T 1 EEI HE TH

(vartem Fear) 3t (I fom) 2
The handloom weaving industry have faced a huge loss due to
Both ( Power loom products) and (Inappropriate marketing)

75. % Iy A o iR Fret o il e A 700 el ) el el
e |

A 700-year-old handloom art under the name Tangaliya is prevalent in the 1.11Ia,gﬁ$ nf‘ the
district of Surendranagar in the Saurashtra region of

':-

Gujarat LMy
6. 5 G, TR TS 1 G 5 e G0 e o () maéaaaﬁg,ﬁﬁm
= 8 -
S .;,.d.H I
The weavers of Banaras, generally use old pit lnoms for Wfqﬁmgsare&ﬁ which are known
as A
Brocades '_ﬁi

77, e e TR AT e O T 7 —

8

Integrated Skill development scheme was lmrnchhcl i

2010 ..
78, WeRe S e #ﬁh‘qﬁrﬁi_l- )
B () T
Basket and rib weave are the vnﬁéﬂum of
Plain weave

Eﬁﬁﬁﬁ%ﬁﬁﬁﬁmﬂ‘% A |
w1, BV 2, B B 2, 3w o
In plain weave the 'm};ler of lifting the hamess is |

harness 1, h:gg 2, harness 1, harness 2, and 50 on

e (de) aﬁm%mmwmgﬁsﬂ%mﬂwmﬁ%ﬁﬂﬁ
i ﬁmﬁﬁ |
e it 4 BaERven Jam g wifufam, 1953
2 was passed with the objective of raising funds and creating weavers co-operative
' ﬂrgﬂnmatmm fior the handloom industry.
The Khadi and Other Handloom Industries Development Act, 1953

Tigm %1 Tear “HE T 20 H1 A o0 FoEnE |
vl

Reeds are identified by a “reed number” which is the number of
dents per inch

B
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2.

e ard o) wieg @ WA I AT S i 2
e

Fabric which are made with the help of Twill weave ncludes
ANl of these

wiEw o gr it fe B
e o T

Shutitle loom are replaced by
Shuttle less looms

A (A1) i e e (Sttt} HE AR | _arf:'

)
i (e
Interlacing of yarns is called
Weaving

= ﬂ'__?
o
.'l
-~
L

) Tl ot I A AT A A S B E | Y
e, A, 90 nida, s i
Fabrics which are made by using wool fibers are
Melton, Tartan, Wool Gabardine, Tweed ._',,

T s el mﬂﬁiﬂﬁmﬁimmwh v
ﬁlﬁmﬁﬂiﬁﬁ e

The original Jacquard machine is mvented -h?
Joseph Marie Jacquard

EEEEE mmﬁmﬁmmm% i
ot s

The sclevage can be dwe{gp,ad by using

Leno weave

EEEE A L Lo S
ER-L '

The adwntagaqf :ﬁf selvedge is
All of these ~

y@?iﬁ#mﬁﬁﬁﬁhﬁ_mmﬁfmmmi |

-

" Th narrowing of fabric during weaving can be prevented by using

temple

i

wTE T IS g T e ) e % wE BT R |
fire <iterg ()

While weaving a fabric on a loom, the width of the fabric is equals to the
reed width

S
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01, Wierel G (A TOreaRT ST o ool (61 ol o E £, (aheioh el 1 & 7
A ar (e )
Boucle yarn which can be used in weft direction falls under:
MNovelty Yarn

52, O S e S EE T A e e
el

Weave with small geometrical designs includes: o
Dobby weave

03, ﬁﬂﬁ{ﬁﬁ}ﬁiﬁm%mmmﬁmm% ?
it Mo

Lono weave is especially used for &
All of these e

94, BT TS SHHT Uoh JAE B o
% .5 ’
Herringhone weave is an example of n
twill

95, %1 BU (EwTS ST AT o et (AF) 3 Rt g {Ilﬁl__maﬂﬂ‘mm oft o fe 11

el & 3fi zee sgmo T
Woven designs can also be obtained by usmgﬂtra warp yams ot filling yams and the

example for the same is ! ! e‘-'_‘
Clip spot patterns .

96. ﬁmﬁmmﬁnmﬁMﬁﬁmm% ?
Punch cards is used in which weaving technique 7
Jacquard weave (-

97. ﬂﬂﬁﬁlﬁmﬁﬁif(—{u\fﬁﬁ FHlraay e B W1 9 (e g
To creat: dnbh:.-r dam.g;_n maximum number of harness used are

98, ﬁﬁﬁﬁm Tese & Forerdl weet SATToTa 9 T Ei (H1aT6 ) B € |
m -

pmtem is a design that contains simple geometrical forms and motifs:
Iluhh

99, Tafore SFm =12 T e |
S R, R A
* Typical denim fabrics are woven from
coarse, indigo-dyed cotton yarn

100. 5 1 JEATE 0 T B Tl o6 faae STe Wi 2
While production of yarn two types of twist are inserted
S&Z

B
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HIE-2 [ Section-2
e %12 [ Trade Subject Code - 07
k|
S A FHTE / Instructor Soap Phenyl

66, v i vmen w W wa Feieiea 1 & T wed fa @ 2
iE

The first soap malking plant in India was situated in which of the following citics ?
Meerut

67. T T T g e e e e 7 *"
1895 i o mree N
Lifebuoy soap was introduced by )
Lever brothers in 1895 LY

68. 1918 H, WTeH 1 weeh Tl wrg Fnior g e e = 7
ot wpdieft 2T e
In 1918, who set up India’s first indigenous soap tmm#.faf.l‘urmg unit 7
Mr. Jamsedji Tata ~,

69, Wﬁ%ﬂ%ﬁﬁwﬁmﬁaﬁaﬂlmméi
Disinfectant can be defined as . G
All of these AN

_ wgaid manddmt o ©
T g ‘

Limit of investment in sqﬁﬂ}scalc industries is
Ten crores

7. ﬁmﬂ#ﬁqmmﬁr{ﬁ%@rt 7
%ﬂhﬂ'&?@z

Which of the fullowing is an ordinary soap ?
Sodiym stearate

72, H@iﬁﬂﬁiﬁtmﬁwm HERR |
- gt e

Fa,t splitting reaction of soap manufacturing takes place in ;
Hydrolysis tower

73, TR % e o e E R
e U wfire % e Rvwem e

Bath soap 15 a mixture of .
Potassinm salts of higher fatty acids

MASTER M 37



74, VTreiad 3 @ W AT AER % ST 1 e 0e § ¢
iR e

Which of the following is the main component of bathing soap 7
Potassium stearate

75. WA o1 TEERE
(A) 3R (B) ZA
The chemical formula of soap is

Both (A) and (B)
76, AR :
HICITEST TR

Soapis: &

Colloidal electrolyte i

77, Fereroriaa A 6 [ewEeh S0 ST g SA17H S0 e € 7

wiftam e

Due to which of the following, Shaving soaps give exttmwe jptEer
Sodinm rosinate )

78. TG o EI 1 AT TR Rl O
A :'\,,ﬂ
The process of manufacturing of soap is cal[:.:d 5
Saponification

79, ﬁnﬁi‘fhﬁﬁﬁhmmmwmﬁ%ﬂmmh
T
Which of the following is the by rg_é.lh formed during soap formation 7

Glyeerol
B0. aTEH = ﬁrﬁmmt*ﬁ'
Hﬁgﬂﬁﬁﬂﬁw

Why is Glycerol d-id“map ?
To prﬂmtﬁ%g_lg . —
1. Iﬁmgn'-!ﬁ! E T T R o EH R |

Soft snaﬂ:r:@: th: limitation of hot process because of their
solubility in water

82. Eﬁm@ﬁmﬂqaﬁtﬂﬁﬁﬁmﬁqfﬁﬁﬁm%?
A Hﬁﬂﬁtﬂmuﬁﬂfmmmmﬂﬁ:l

] In shaving soaps glycerine and rosin are added to
Maintain soap meisiure and produce lather

L

83, HIEA T 8 H H A E
g TH!
Soaps perfectly work with
Soft water

R

A3 07 ' 38
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RperreeT Tl et v o w0 i (T 2 & Foreil Remgel 61 7 2t 2 i s &

84,
il 7 e geriter
Phenyl appears as white crysialling solid which has a phenylic smell and it is
Paorly soluble in water
85, forerger s = 3 e fopen ST & 7
) .-
Phenyl is used as ..-'
All of these > &y
86. RS el Tarea Hi Tl & Al ATl de o A --@';fjll
frmm i uindafg s | 0
With the increase in the awareness of health and hygiene among pmple riowadays
the demand for phenyl has increased. A N
§7. T 9T YHE YR % e %
. ;.::.:_,-_I .
Major types of phenyl available in marketare_ . &
Three \;.
88, mmﬂQWﬁﬁﬁsmﬁ%mﬁmrﬂﬁﬁmﬂs FirTa AT 7
CHTETH AT o~
Govt, schemes run for the start-up ﬂfsmﬂi scale industries comes under.
MSME scheme
89, WA TR R MSME % ﬁma’hznn 23 i e
TUA2FE
In the year 2022-23 the budget for MSME by Govt of India is
T21.422 cmﬂ;‘* _____

90, I o HEA, mmmmm:ﬂﬁr ~2022 % 37T, ggm, 7Y vd oy 9|
R H yrdl w R e ER FRAm e od o P s EPF S T
wftrm 3wt o gn <t SR |
Under the Uttar Pradesh Micro, Small and Medium Enterprises Promotion Policy-2022,

j]:ﬁ'bum:mnl of 100 percent of the employer's EPF by the state to all new industrial units
~inmicro, small and medium enterprises from the date of commencement of the unit to
years will be done.
5
o1, uil & Figi w1 o et % forn Freafiafian 4 & fovm fome o i Ren s @ 7

# woft

Which of the following phenyl is used for removing insects from homes 7
All of these
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ot o Pl & ST O S5 B ST el AT
T, e GeT, St =T O, Sl w1 e

The raw materials generally used in the manufacture of phenyl is
Rosin, caustic soda, castor oil, Cresote oil

03, Tt 1 8 (e A1 o Ter Hi e T gl § e o gan et
Ty wertat] =) wE ST R
TR IR
Which of the following scheme's objective is to create and share sustainable pmmms
related to improving cleanliness in public health facilities 7 +

®

Kayakalp award Py ¥

04, TR o T 3k TATEA O AT e B o
gt arE S

On addition with water phenyl gives O
Mil emulsion S

95, ﬁmwmﬁnqﬁﬁﬂmﬁ 7
It{ﬁﬂmri‘m Q)

Which of the following raw materials is not used in tﬁmnuf‘amum of phenyl ?
Groundnut ofl

96, TIIeTEd SR B 8 i W1 U [ ﬁaﬁqmz&g&smﬁmﬁw e AT 2 7
T T W I ST
Which one of the following factor ph;.-s thq;l;nuat important rok in the location of an

industry in a particular region 7
Least production cost

97, T § g, qﬁﬁﬁﬁmmrﬁﬂgaﬁ‘mﬁnﬂﬁm
Tt

Role of Small industry like/Phenyl Floor Cleaner Making in India
All of these .

08, TS, TR '.![!ﬂn 3 T T o) woed
Fudt
Problems of Small-Scale Industries like phenyl floor cleaning industry are
All of tirese

00, ThT5el &1 S5 ®9 o X ST e W g |
aed
Phenyl is also used as
All of these

100, THATEe T Wag <t & Teran 7 &, Foaem o 8

TR

Phenyl was derived from the Greek “phaino™, which means
Shining

W
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6.

|92-2 / Section-2
22 farea %18 / Trade Subject Code — 08

T SERE (S WIPH) / Laboratory Assistant (Biochemistry)

forest 1 & ek e AT R -
AR

One of the following is not an aldose.
Fructose

67,

«ftell T T ST ST AR (STeIEE ) HEIT 2
=

The storage polysaccharide that is found in plants is )
Starch

o,
'
o -

8.

it % He (€E) 1 TR | ..T'_;"“
TR I IS K=

Identify the set of epimers. e
Glucose and galactose o

69.

Tt = wltH 0 &

Abbreviation of Tryptophan Yy

T0.

o Y
Al 0 WTEE = WA A AN ufE B g B R 7
LIEGLEIEE Al
Benzyl group side chain is present in‘which one of the amino acids ?
Phenylalanine y |

71,

a1 ad uts q R
B) () TF

Two amino acids nretﬁ:ikm:l by
Both (B) & (€)'

T2,

ST Y s e 3 ST WY S DA
TG Al 3 deergs wiaE

Physical interactions present in tertiary structure of protein
Hydrogen bonds and peptide bonds

TATEH o ST W FHET &
L

MNon-Protein part of enzyme is called

Coenzyvme

74,

e aradiEs o Wil e
TEr e

Competitive inhibitor of xanthine oxidase
Allopurinol

39
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75. Faet 4 © Gid HIuwTEa 2

Protein coenzyme from the following is
CoA

76, GaATER For ) oA o1 wtieh 91 1 WiSe Fepeeh G T T & 7
ufire v

Lock and key model of mechanism of enzyme action is given by
Emil Fischer

-

77. RNA 9l mRNA A SR 1 QA U0E & Fwy H (BIYEs sEned sl §

RMA that faithfully translate the information in mRNA into sequence of Amino ﬂﬂ}!ﬁ--
IRNA L

78, TeT3HA1 1 IO ) Al USTSH ol T i | D
EEE RG] PN

H,N" % .
Q=
E{“\N—"C |
B Ribose 5-P i

S-Fonnaminoimidamyle :
A-carbassinide ) 3
nbosy| S-phosphate .

o« o
HI/ "ﬁ"“‘c-"‘% ; -

H 'E.; i %
ibose 5-P w
Inosine monophosphate 4
[dentify the enzyme %Ea;ﬁ]}rﬂe the reaction
Cyclohydrolase

79, fereTter e e Tean 7

&
Who coinedf the term vitamin 7
Funk_ -

80. TSI i R
' ﬂﬁtimetahnfﬂ:: of riboflavin
Galactoflavin

§1. EEeE & AEERE TEE W)
TR

Genetic material of a plastid is called as
Plastome

A3 08 “u AN 42 MASTER



R2.

i TR 2H,0 + 24— 2AH, +0,, AFN gl 7

Tt i ()
Hill reaction 2H,0 +2A —— 2AH, +0,, What does A represent 7
Electron acceptor

83

A e e we W A X
qﬂ'ﬁﬁhﬁa‘.‘[ Lo

Light harvesting pigments in Cyanobactena are i
Phyeobilinsg

B4,

sl I fimsns AdeEd A D"
. I YRS )
11, e SR R )
[1], UTTEERIEE & He & e
IV, MPIETRIEEH o SEE &5 Pty
13 A9
Photosystem 11 is present exclusively in v
I.  Granal thylakoids _.-_-H,-,
Il. Stromal Thylakoids o ai
L.  Appressed regions of ﬂl}flﬂkﬂ-il‘ll.a':} ¥
V. Non-appressed regions nflify[gktrids
I & 111 y

i foerfere e e s i s i uRve
i )
Amino acid pre:aeul En i:l:-'.}rgen evolving complex

&

Tyrosine *_

Bb.

Eﬂj;lml;&lﬂ_thn reaction |

b
-aH;0 + bPhotons + eNADF* + dADP + ePi—— O, + fATP + gNADPH

2,812,33,3,12

87.

C, = T W ST e e 3ee
B

1* stable product formed in C, cycle
3-Phosphoglycerate

y
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88, WHEI-6- Hiehe + ferauiFERRE-3- i D, e S-Sk + e -4
HIEHE

it i dgm A" B
7 Ueal
Fructose-6- Phosphate + Glyeeraldehyde-3- Phosphate i1-1!lE:|J.rlu1::+s:L=. 5-phosphate __,“
Erythrose-4- Phosphate

Enzyme “A" in reaction &)
trans aldolase bt

9. C, %% ____ WHEmIE| ),
E it t=d 5
C, cycle oceurs in R
Chloroplast &

90. = sl firew 3 o 3 s oA S
rl-'h._l_-u
Fﬁﬁaﬂﬁlﬁﬁ "?‘3"'1}
Enzyme utilized in manufacture of high- ﬁ-ur:tgs,u s:,rrup
Glucose isomerase X/

J_II-"

91, uiefiheler FiwiEa & warEET _1;“
() e -i:-l*ui‘
(i) TFERIEAE O
i) W\
3 meft P ‘r"
Synonyms hfﬂ%]ypheml Oxidase
(i) Phefplase
[uj L*I-ﬁﬂﬂlmsﬁ
_ﬂﬁ‘ Catecholase
¥ All of these

92, A fiemd st s S TS A £ 7
F e, SR diee & < e

How can we prevent Millard reaction 7
Low temperature, pH below Isoelectric pH
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03, EE ot § FEETE B A SRR e

gl (A) 3R (B)
Inorganic Chemicals used in food colouring
Both (A) & (B)
94, g8 1 S A USIH I A B A5 E 7
e

In milk which enzyme breaks down sugar lactose 7 et
Lactase )y ¥

95. W H E U1 e T 87 AN
Le o) N

Which is not a food nutrient 7 pey
Enzyme . 4

96, FreIreE & B W1 W 6 AR U e R o
et & st % ot wrgion wiey (dw) 2

ey
Which of the followmg makes water a liquid at room t:mpn:mtur:?

Hydrogen bonds between water mnlenulu Oy

97. STEA FAdtea B Km w1 aread 2 v
LT SIS o S

il

In enzyme kinetics Km implies AT
The substrate mnunmﬁnnfmﬁt gives one half V.

98, e fafes Fores g Relt ot g S el 36 vl )t v R e 8,
wHET § | -
T R
The method by whg_ch‘ﬁhfplgmcnts of any green plant can be scparated is called as
Paper chromatography

99, b %
qﬁﬁaw

Agaf‘,m
" ‘I"nl'_-.rui:chnri'lle

100. qﬁmﬁmﬁmmhﬁmﬁmm% ai‘ltﬁmﬁgmtm%
TR |
e A

Food additive

A substance intentionally added that preserves flavour and improves taste is called

N
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WUS~2 / Section—2
25 fv F1E / Trade Subject Code - 09
s Taen aures (AR B BE) / Laboratory Assistant (Physiology)

66, HE FeA &g aAftema gt B o wret & |
ﬁm = | 1
Maximum post-harvest losses are found in L
Papaya
&7, mﬂuﬁﬂm%ﬁnmﬁﬂmﬁﬁwﬁmqﬁﬁmﬁmﬁ%m
ST i e we | 3 o
iR i Sy

refers to stage at which plant or plant part is able to DE[LH.IIHIIH ontogenesis
after detachment from mother source.

Physiological maturity

=

68. 3T a1 o1 B e et it et 1 TR e 8 7 O
=T .;_“‘-

Flattening of eyes is the maturity indices ﬂt'whwh Pé,ﬁt crops 7

Pineapple

S o T G | _f‘:
el . -_'--'1‘ '
Maturity mdices of Muskmelon is. .
Netting - "

i‘r{—wﬁaﬁﬁ%ﬁﬁﬁﬁnﬁlﬁaﬁﬁﬂﬁﬁmwm% i
Wl o SR qﬁﬂamﬁﬁmmﬁmﬁtﬁt

Which of the fuﬂ::-wmgﬁlatemnts aboust non-climatic fruits is correct ?
Steady decling in respiration without ethylene production during ripening

71. e, e e £ |
L
i the non-climatic fiuit,
LAl of these
72, T whie % e o WERE § s B aien vl S 2l
v Amh
Ethylene inhibitors used in post-harvest practices
All of these
73, T 1 AT ITER AT o Feent T
Artificial curing of onion is done at lemperature.
40 °C
b
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74, ¥ femsm % w9 § ff I g |
{eauc
Cold sterilization iz also known as
Irradiation —
75, FCireiea B B T BHe Fied % 418 % I i s 1
3w} .
Which one of the following comes under post-harvest treatment 7 e
Al of these oy
76. UIEEN (APEDA) &1 #E 8 ﬂ )
ufiErree UE WA BE TieRH TaHird Sawie i “d
APEDA stands for ; b
Agricultural and Processed Food Products Export Devﬂppguut Authority Il
T7. el WENY] i o o O U A T O S ITEE #mmﬁﬁmmﬁl
Hot water treatment of mango is performed for reduction of ﬁmga'l infection at
temperature of . A%
50 °C i
78, e (precooling) %ﬂﬂﬁﬁﬁiﬂﬁﬁfﬁﬁﬁﬁm‘ﬁ’awm R ;
o e gl
Choose the incorreet statement about pre-cm:rlmg from the options given below :
Increase in rate of respiration . - -
79, aﬂqmd’rﬂmqmﬁhﬂmtﬁﬁﬁiﬁmﬁmmmi ?
wETE T O
Which bacterial mmmurganism causes spoilage in apple during storage 7
Pseudomonas spp.
§0.  Ee 2 AR G A aP) 59 T 3 (70, 158 TR 1 1T (el e 2 7
firamw :maiﬁz
Which chemw:alh:a used for alleviation of chilling injury during storage ?
Methyl jasmonate :
8l. uﬁlﬂlﬂ; I B e 3 AR § S ol e & | i
y I_-Ig;;l_vi‘,r applmatmn of fertilisers causes faster tissue deterioration in fruils and
‘. wegetables.
) Nitrogenous
82, = E1 TR (PGR) H2T8 5 12 o W11 #1 oe 7 il o o o fore wfei seus s 27

Afeaftrfers ufie

Which PGR induces resistance for post-harvest diseases and browning in cut fruits
Salieylic acid

Y
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83.

CA T feafoa o it 1§ a0 T8 27
0, 8wl 2 A= sl Co. 1 s | s

What is right about CA storage conditions 7
0z below 8 per cent and CO; above 1 per cent

T & ST 2 St & S ) ST T B 8 7
A i, Fhm e
Which physiological disorder of carrot is cansed due to deficiency of calcium 7 oy
Cavilty spot, Cracking o

= <

e R erE 1 S9Ecuring) ¥ feT §EAH ATHH F= R 7

What is optimum temperature for curing in enion and garlie 7 )
27-35 °C LT

8.

s it afteer =0 Frafo 5 = 7 i
HTEI - Y

How to determine the maturity of persimmons ? e
Astringency .

§7.

mm#whﬂmmﬂﬁlmﬁ#m?ﬂﬁ? A
g (g )

Degreening is carricd out in which fruit erop ? 7 T
___ Citrus

-
L=
[

saf

_ﬁ'l
1.

qﬁ#ﬂmﬁﬁﬁaﬂqmmﬁmmﬁiﬂht?
ffers ufire A7

Which organic acid increases in hpngpa during ripening 7
Malic acid

89,

ol | T (Flame peeling) 31 mﬁ
1000 °C # a‘ﬁmnﬂ 35 e & W T |

Flame peeling mea;q&
Pecling of fond thromgh a furnace heated to higher than 1000 °C

90,

e TR (Lye peeling) 1w aifemrat e el & foe Renammr 7

A .- :‘"
L:.fa pﬂimg Illﬂﬂﬂ}" used for which vegetable ?
| Earrot

o1.

.-_ﬁiﬂﬁ!ﬂﬂﬁﬂﬁmanmﬂ AR
' I1P'Il:|t water blanching is done at what temperature 7

100 *C

92.

et 3 = 3 S R e AR
Term =

A solution of sugar in water is called
Syruping

3
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93, w1 WA A AT Hedh YN R 7
BFETE

Which volatile components found in green apple ?
Hexanal

T8 o A1, h AHE o HIA [ohel ST e il 8 7
How much percentage wax reduces post-harvest losses ?
30-50 %

o2 TIT 1 T < Tere, el AT ST STSaT T S T W 7
For Mango what temperature and humidity should be stressed in cold storage 7

W,
g F
L8
'|| .

7-10 °C, 85-90

07 TR 3 Y[ ol 911l 87 H Tl ATANA S (o6l il & 7

How much temperature is reduced in zero energy cool
17-18 °C

96.

chamber dmngpiak'fsummer 7

Terdia af AT T R |

Freezing injury occurs at temperature,
—1.5t0o-1°C

-
E

L.J

m%mm%mmwmwmﬁﬁﬁﬂﬁm! 7

reften wieE H1E

For air transport of mango, which packaging mrl_mmafm used commercially ?
Corrugated fiber board boxes

Tt e~ ST Ug ewters ( Ccm@;l Post-Harvest Engineering and

Technology) (CIPHET) _ A ferm 2,

Central Post-Harvest Eugmcﬁ-;qg!_éld Technology (CIPHET) is Iocated at
Ludhiana

ts Order) (FPO) T = e o 7
came in which year 7

T 3 AW (Food
Food Products Order (1
1955 Y

100.

o
3

w

-..-""l"|-
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W2 | Section — 2
vz RrA %I [ Trade Subject Code - 10
ST AR (WRF) / Laboratory Assistant (Chemistry)

66, AT & 92 T80 S 6 I AANE |
o i (K shell) .
The first shell adjacent to the nucleus is called C «"
K shell
67, T H U e Foh T i O S SR B 8, aﬂﬁmmﬁnﬁiﬁ?
e 1

Elements with one § electron in their outer shell are considered in whmhfgrhup in periodic
table 7 :
Giroup [ N

SoloTam (Ca) 71 ORI T R
Atomic weight of Calchum (Ca) . :
40.08 &

AT, TR H SIen ] AT anﬂ?
T ] TH = ehTE ~

{
Exothermic reaction in chemical equilibria III":ﬂ.I'I!f

Evolution of heat

T0.

ﬁmﬁ_ﬁamhmﬁﬁﬂmﬁﬁw@ﬁﬁmﬁﬁﬁmﬁ AWl
A AT
The temperature at which one ﬂ::qn;;gf‘ substanm changes into another form at a given

pressure is called
Transition temperature

-|

71.

e afere 1 friro U

Dissociation ::nnstam;\nt_' acetic amd 15
LIS x 10 O]

ST % F10p T S OH- H Tawira 31 heermal & 7
-,

Splitting of s wuh:r molecules into HY and OH™ are called

73.

W@ﬁﬁmmwﬁmi?

Pheno Ephtha]-am indicator is having which colour ?

Colourless

74,

ToerTee] 37iEa STeehat 3 @ 479 5 T (pH) o Hiel i i H1 0T g § 7
I

Methyl orange indicator gives which colour in sofution of pH below 3 7
Red

3
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75, ABHTel Aot g ST e § w A 7
i

Bromophenol blue indicator gives which colour in alkaline solution 7
Purple

76. “FER 2 o, el T 6 fou T e S ST T 0 o SR Bl 81 R i o
tram e 7 N
= 1w ”."
“At constant pressure, the volume of a given mass of a gas varies dircctly as the al'.usnhm”*
termperature.” Which law is this 7 -~

Charles’ law £ T

77, AR A s , i ga v Y
et & | ¢

If temperature increases then the viscosity of liquid
decreases N

2 m
78, T T A R B R 7 P
How much is boiling point of water ? D
100°C T

79.  sfirgi ward w1 o o 7 A Y
e i o m—mﬁmﬁim—miﬁ! I
Anisotropy substance means
Their physical pmpaﬂhamﬁlﬂemnt in different directions.

80, Doreet e QT fag & Foreal Rt TR 4 =i o et Pt o6 werm 1 AT fewiait 3 W
il w el 2, w0 HEELE ?
wffawd

A orystal is a such a point that any line drawn through it intersects the surface of the crystal
at equal distances m,buth wrections is called

Centre of & hjmmetry

81, I T § o e sheh fagai % o E 7
I ST O 31
Jqiehic crystals which units oceupy lattice points 7
" Positive and negative jons

82, Freifetan B 8 S H A T R 7
Which one among the following is metallic crystals ¥
Fe

§3. ETEA: Wl i st & fen e e o amE e e g v
Generally, how much temperature is used for dehydration of fruits ¥
66-71°C
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84.

Ty 3 vErol & ERA Ak o6 e w1 e e g e R

0.0 Trver o / Férm e

Browning problems during storage of marmalade prevented by which substance
0.09g KMS5/kg of marmalade

il ST afwa =t el gy T G R mrE o e e e e R

How much amount of weight loss can be achieved by osmotic drying method of fruits and. .
vegetables Com™
30-50% ¥

Bo.

ﬁﬁu@mﬁﬁﬁﬂm-ﬁﬁnqﬁawmﬁmi 7

Which anti-caking agent is used in preparation of mango fruit powder- :‘ 1‘
Tricalcium phosphate ~

-I "
L.

et % 18 3 st h fewnad) R veel o =57
m . "]

The recovery of orange juice powder increased with whichi ﬂtfb.stame ?
Maltodextrin

e ST 6 e T TSl e 3] ) HW HEAE?
Pectin molecule with how much amount of m.ethﬂx}'] content i called high methoxyl
pectin¥ # P

= To -

89.

m#ﬁm%mm%mﬁﬁﬁwﬁﬁmm%?
How much amount of sugar is added ot csmotic dehydration of mango ripe fruit ?
60% £

eIt 35 ST 3 G ST 1T AT e SR et o fere ot v 1
TEm eI gy o

ﬁr&mm
Which acid is’ l.ﬁd'pd for the obtaining sodium copper chlorophyllin salt during hydrolysis of
-;hinmph:erll? 2,

Sodium hydroxide

91.

Fﬂﬂf&\fﬂ{ﬁi ST e 5 T e Sl (w/w) EETer ST g

. “Haw much percent (w/w) soluble solid is present in apple juice according to

FAOQ/WHOY
10%

e SNEdEH STat = e ) o o H g < e e 29 R
According to Food Produets Order, mango juice containg how much amount of mango
puree 7

45%
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03, el TR ST WATY S G SIS A ST ST sl 3 (R i T
foru femm o = S fona SR
TR HeEEEeREe
Which chemical is nsed to prevent browning and prevent growth of undesirable microbes
during banana beer and wine making
Potassium metabisulphite

94, T % 10 T A CAR T S UAIATATS I TUil 3 To1 AT T fhe A1 mzqﬁ*
femar A &7 .

R EHAIIES x &
Which EDI]:IFEJUI;'H:' is penerally used for antiseptic and antioxidative propertiesin ’ﬁ‘unjuice
processing 7 . ‘s. g
Sulphur dioxide Tong) )
95. mﬁﬁamm‘tﬁmmmmﬁﬁwﬁﬁﬁwm%? Oy
At which temperature fruit juice is frozen and stored s
~18°C .-.l';.'
96. el 1l Wil w0 H el {gellmg}qﬁzammﬁm%j, ?)
A =
Which is the gelling agent that naturally occurs IP. fﬂ,}\lls?
Pectin

97, e W o GET o o Sﬂzﬂﬁﬁﬂﬂgﬁ'ﬁiﬁﬁ 7
How much amount of SO, is added du;;wt;,ﬁ!epamuun of guava squash 7
350 ppm

08, mmmmmmmimmﬁm%m%mt
Y

How much amount of sodipm metahtsulphlte is added as an ingredient during preparing of
papaya squash 7 A

2 (™
99, i e A I Fo o 187
§ . :
Which is the r_rmm pectin containing tissues in plants ?
Parenchyma

100, wﬁmmmmmﬁmm A 7

Upt& which moisture content pineapple juice powder dries ?
6%

3
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6.

WUE-2 | Section-2
2= A ¥9E /Trade Subject Code — 11
eliTeTR HE (@ dreifER) / Laboratory Assistant (Food Technology)

et it il et o e el =y st 3 vl wifd g ek (amaih) de e o
iR o ek ey 3 Fore 3 i e e e ) ol e A e
gl &

& :
The process of sealing fruits and vegetables or any other foodstufis hermetmall,g {ﬂnu ght)
in containers and sterilizing them by heat for long storage is known as

Canning a7,

67.

oyt 1 vt et ik 2 =
Caesiesin] 0N

Pungency factor present in Chilli is
Capsaicin

8.

ﬁn#iﬂtﬁzmﬁmaﬂwﬂﬂmwﬁ#ﬁgﬁl%iﬁqmﬁmﬁﬁﬁﬁ%l
W (L)
t:-,rr:eume plates are used fummnhcnqmgm”ﬂugmy acidic foods.

69,

mﬂﬁtﬁ?ﬁ :mw&tfﬂaﬁwﬁ }_u
Aifem i e

Guava jelly is preserved by . 5
Sodium benzoate o N

T0.

el TUrE] AT P L
111%;&@%!%%

For the preparation -:rf-gpnd qual:l:y potato chips, potatoes are stored at
Above 10 d ntigrade

Tl.

e e H S T it B =T 8 R e i &, Pkl FempiEd e wes
ﬂiﬁqﬂm;'l'\l.'

The zpﬁt of slowest heating in a container is called as which is the most difficult

to gt;milze

" Cold Point

FRfreraoT o6 21 e 370 Teiies & i 321 8 ] & wifehe s 81 & | 59 ge Sl
FE AAE |
R g
During Freezing the commodity cools down below its freezing point but doesn’t freeze.
This phenomenon is called
Super cooling

Al 1l L 54 MASTER



73, TS ShTS 1 s o 1 gee B aren wad s e §
(A) 30 (B) T |
The most common refrigerant used as cryogen in cryogenic freezing is
il {A) and (B) Both
T4, HTH T H1 THOTH AR |
4 wift .
Cooking of meal results in . : f
I All of these
75, 90% HEA Sl S T2 FH T IFh! HEA B m#mﬁmm%ﬁm mﬁﬂaﬁ
& 9 H S = 2 D
2 el =,
The time needed to destroy 90% of the micro-organisms or to reduce th:ir number by a factor
of 10 is known as "
D value A =
76. vt mr et i, H@aﬂmwﬁaﬁﬂﬁaﬁﬁ'ﬂﬁriﬁnﬁt%mmaﬂt
HgH 7 wiew ] Foean o w R .
] '::,; e
In the _ falling rate period, the entwﬁgﬁpﬂr&lmg surface can no longer be
maintained and saturated by moisture mm.rdg_hint within the solid.
First
T7. FSSAI % S9N, m#mﬁw, B =R |
A per FSSAL Tomato Juice shall have minimum
5% TSS
78. m—mw3 % oo, e s Wi 2
mqﬁ:muﬁhﬂmﬂ
Heat sterilization is d generally a suitable process for
Low-acid foods :
79, € SR A FEeR G el § TIEE @ e % fag TR % faraa 1 I
o = &)
SR AL
- g +_type of separator is used for separation of powder from air coming out of a spray
FIET.
Cyclone
30, Fr=fafais mmmﬁfmﬁ%mﬂ ¥ foru T S 87
femt arieemE
Which of the following is used for the surface treatment of glassT
Tin Oxide
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81.

TR et SO 2T o ST g % et Wil o sefieneer <5l FEYH
S ST B

A
The classification of commodities into various fractions depending on commercial value
and usage is known as

Grading_ ;

52, Freiffiad & 8 5 G S A S Ao we e wnl ) w6 8w T a a r;,, ,

oo forer <
Which of the following size reduction machines causes minimum heating of the: ﬁanl:l

material? .{.
Hammer mill L

aitel et (i SO e |
W T

The ball mill works on the principle of
Impact

o, e e, ) S T T % e Il @"ﬁhﬂﬁmmh

Purees, food pastes, pulp and other similar pmﬂ%ﬂi‘e processed by
Colloid mills

85,

86.

F A ﬁmmﬂa‘aaﬁn% l
Imlmﬁmi ?

Cryogenic can be advantageous ﬁ:r; i
Spice milli

mﬁﬁmmw%m;ﬁm%mth?

e R
Which of the followifg is used to make food grain flakes ?
Smouoth rofl €rtsher

87.

el ol st el =i AT (4 9 o FHH ) #

The avcrag;ml content of mustard (on dry weight basis) is
35%

%ﬁmmmn@mmﬂﬂ%ﬁm T R 3T ek SR R =
* et

' “'u"amlla. flavour is naturally obtained by curing which part of the plant?

Pod
Hehl= T § T e i SR o o foran v @ |
davd

Cooking of oil sceds before pressing is done to
All of these

_$
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ﬁaﬁﬁ;ﬂmﬁaﬂﬂﬁnmzﬁmﬁfﬁmaﬁﬁfaﬁw R

00,
A
The commonly used solvent in oil extraction s
hexanme
91, AR AT TR S et em st wImm sl #) .
e 3o 3
Generally the oil mills use for filtering oil after pressing. ¥, &
Plate and frame press Sl
v2, Preferfian 3 & % der 3 i & oo
T H S T : S 5
Which of the following is not a step in refining of oil? 3
None of these , ;;'-“"N
93, e e 3 P a3 et % o 39w &)
arrer o
Supercritical fluid extraction techniques are r.;fm,gahlc for extraction of
Essential oils Al
94, TR EEEE wwﬁﬂﬁﬁmil
TR SIS A& i
Bleaching of Cardamom |5F§rrr|ed out using
Sulphur !}Iﬁﬂdtl
05, mmﬂmﬁﬁ%m#wﬂwﬁ%mﬁﬁmm%l
fardifen
Vo il ﬁd}usiﬂ clarifying agent of firuit juice.
aun
06, Wi T e U T T % 3 CO, TN, T e S e e
SIERE |
e e R (o)

Flushing the inside of a permeable package with a gas such as C0, or N, before s:almg i
the basis of

Modified Atmosphere Packaging (MAF)

"
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OSSP P S

ol e
Which of the following is a thermoset plastic?
Electrical switch
oy, Fr=fafies § 4 s m i gesl e & Pl & delta T 87 i
:I il .-' /
Which of the following is not related to the making of'a two pieces can? ‘LJ: 3
Impact extrusion : 5::5-;
99, T FATE 1§ WY WEH ) FE AR | P
Storage of food under reduced pressure is called B
Hypobaric Packaging .,1:-‘,‘*
100. SEEfres i de frm & w6 e r:;::‘
fafersin Y
1":;‘:-‘
Photovoltaic solar cells are made of » T
Silicon )
' A
—lﬂ . - . I‘"l ; e
©
P \\"" [L
\“ .|
!.WH y
% *.__,r
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HWYE-1 | Section-2
7% fimm 8 [ Trade Subject Code — 12
WIS W (FErsiE EE) / Laboratory Assistant (Microbiology)
66. i =it vt arfirmom wn i ¢
o E gEsiiat i O e 8 T s e s e |
What is Koch's 4“’ pnatulat:: 3

e L ——

67. ﬁmmwmrra:rmwml

__theory was created by Pasteur. b

Germ 1N
68. BT THT hE S A BT R 7 .
2 adi

Tuberculosis discase is caused by which organism 7
All of these +

69, wEE (SIV) 1 HIH A R | A&

SIV is the abbreviation of Wi, >
Simian Immunodeficiency ‘i"iruﬁ

70, ﬁﬁﬁmﬁﬁﬁhmmﬁmﬁimﬂmmmﬁﬂmﬁmmi?

FIIAEIZS L o
Which of the following is an nrgamsmﬂ’lat obtains its energy from light and its carbon
from an inorganic source 7 -y vy
Phutﬂtutntrnph ‘-.
1.
At fl{mﬁﬂnﬁh})aﬂ‘k (ag-whifirhr)
Micro-organisms arg

Both (U nintiu}ir] and [Multl-eelllhr}

72, TEEEHICTSRA % SRR S (payotf) e FaH 1 & 1
3Fleke i 1, 3-Frawienieme s st
‘lﬁr"hat Qﬂmﬁ:s[ step in the payoff phase of glycolysis 7.

Oxidation of glveeraldehvde 3-phosphate to 1, 3-bisphosphoglyeerate
__m%mmﬁmﬁﬁmamﬁmaam% |

Aftrera i

] r’L common biopesticide for preventing plants from butterfly caterpillars is
Bacillus thuringiensis

74, Tt GUTeTa €)1 T T |
et - i et

Find the incorrectly matched pair,
Nostoc - Drug addiction
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75.

HTRTRTE & FERTE 1) ST 3= AT 3, T 1 U W £
A

An excessively high temperature in the fermentation of saverkraut may inhibit the growth
of

Lenconosto
76. & IR Zra Tenfera T aman 2 |
(PR e ) 3R (SR i)
Green olives are fermented by .
Both (Lesconostoc mmnl:ermdaa} and (Lactobacillus plantarnm) N
77. A= W ] R 2 e k| X
Urehigte! e 2 ..*_f "
type of fermentation is observed in yeasts, Y
Alcoholic fermentation o~
78, @i B STEREET YA o v waﬁmﬁmg'rn"
amh
Anacrobic respiration by yveast results in the pmductmn -ufr :
All of these vy
79. Frerferfiaa 8 & i o Fenfoam sieq @ o A & 7 <
Which of the following is not the property of the fermented food ?.
Toxic N
80, mRe ey fmamEtE 7 Oy
To which division does mushroom belong 7
Basidiomyceles
§1. TYREH g FeITen gEIeE e YiERTE o e # |
HEHE
Ihotenic acid pmdﬁ:cﬂ by the mushroom iz type of poison.
Insecticidal "
82, oM/ Bl (peach)§ 1 Terd- S et 412 I bl o b |
it FnEs
Prs-mw'e:s.t application of in peaches reduces post harvest rots,
Calclum chloride
83. o0t ] S el 31 ST 0 3R Tt AT WERY % AG IR A e o
- mamE
RICIRE U]

rays are capable of penetrating fruits and vegetables and destroying pathogens
after harvesting and storage.
Gamma rays

3
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84, WEweldde AR Sy mtE FymfEmmmen)
(st zraiz) o (R ) A

Control of post-harvest decays in citrus fruits was carried out with
(Sodium tetraborate) and (Sodium carbonate) Both

85, mgﬁq%a@ﬁﬂﬁmﬁﬁﬁmﬂﬁﬁﬂmﬁ%ﬂﬁﬁﬂﬂﬁ%ﬁmﬂmm
et |
Tormtfors uft

Application of plant hormone reduces Penicillium decay of oranges t:-;.n,gi;'la:.rmg
the senescence of the skin of the fruits. e

Gibberellic acid e

-—

86, s fafty = veeA veefl AW g Tawm v |

The antiseptic method was first demonstrated by ol
Lord Lister ¥

87, kit ofta F e R 2
] e T et '

The main feature of prokaryotic organism is
Absence of nuclear envelope e

B, SITR B (TR TR _ ) S

Cellular immunity (phagoeytes) H'E“IJII‘SI time discovered by
Elie M etchnikoff

89, Fretforfia i & form Sanfieh = etver-mi wge 3 o & g 1 TR 0 T wg Aia %
ﬁr:hm"rrmamﬁaﬁaﬁrﬁmrrﬁt 7
foratEr T

Which of the- I’qllnwmg scientists, tried to disprove the spontanecus generation theory by
passing air through red-hot tube 7
endor Schwann

90, iy i Afew it & fta gew wwd wee gy weniie form v v |
S g e
The relationship between anthrax and Bacillus anthracis was first established by
Robert Koch

91, HEAHAlE T ATETEEE i ATSed W e famn A @ |
Nitrites are oxidized to nitrates by a micro-organism
Nitrobacter
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92,

el amm % e s e wlw g
witar 3w

The primary mode of transmission of poliomyelitis virus 13
Food and water

93.

Torerferfiae © & 9w ETS &1 Ygen sy (Fiedaa DR 7
wedlud (NADH) feammgiiie
Which of the following is the first complex (Complex I) of ETS ? f ,,'-- s
NADH dehydrogenase

mqncmammmmmwaamammmgﬁmw
# i e ¢
How many reactions that occur in the TCA cycle transfer electrons from 4 m

ehcn'nnamaptmgmym:"'
; .1_:"'\

95.

1?—[{#1:1% e 9] 3 fere Sl (TCA) <o fherlt s v s 8 7
For each molecule of glucose, how many times does the T%'e-ﬁcle proceed 7
2 o T

Were ¥ BIEio TE o & | &

9 .
et (NAD) o
accepts hydrogen from malate. -
NAD

97.

i 1 Srenge =i 3ifem weEn 3ﬂ'ﬁlﬂﬁﬁﬁﬁl

Final alcohol content in beer van:a,frmu ;
1-6% A

i o SRR - a:r@g@m 2
m _I.\‘ '
Vodka is distilled fin fﬂ“’u
Potatoes

sfieftsfl (BCG HTI‘FE_TT-I'IHW% ?

W‘kﬁtmﬂmﬁﬂ name of the BCG vaccine 7
’Bm:ill.s Calmette-Guérin

1M.1-ﬁﬁfﬁiﬁw%ﬂmﬁﬁmﬂﬁﬁﬁﬂﬂﬁﬂiﬁﬂmﬁmﬁt 7

"

Hiem
Which of the following gases are produced in large amounts during shidge digestion ?
Methane

9 i
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WUE-2 / Section-2
% Fma i [ Trade Subject Code - 13
wiftne. (T e U g e e wfeen s faan) /
Pharmacist (Jail Administration and Reforms Services and Women Welfare Dept.)
66, Tai=e ol % vemfE g |

Chemical formula of bleaching powder.
Ca0Cl,

67. maﬁlﬁaé‘a {ﬁ‘mﬂmnﬂw}ﬁmqﬁmﬂmmm% |
The citric acid is used in iron limit test : kL
To prevent the colour due to copper

68. T TETEEE (styptic) % feu fermeRn wam Rean s ® 2 w

Which is used for local styptic 7 7
Alum i

69, ﬁmﬁﬂﬁmmmmﬁﬁawa?
RS

Which of the following antidiabetic drug IS, S‘u-lfunyl urea derivative 7
Glibenclamide

70. %ﬁﬁwmﬁﬁﬁﬂmu
iﬂqqu-uummm

How does phenylephrine differs from adrenaline 7
Lacking 4-OH group on the benzene ring.

71, P i @ o G R 2o T STEeTe S & 7

Which of the fillowing antihistaminic drug is a propylamine derivative ?

ﬂhﬁﬁh&himmhe
72, T B &N A UEeR T EE 10" 9 SR § RBC W AN 37
| wIg
Which of the following antigens are present on the RBC in the person having blood group
07

MNone

73. % e, Freafefiaa 3 g5 woes 7@ = R g |
e

The following organs are part of male reproductive system except;
Ureter

¥
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4.

FrerferfiEa 1 @ T et A ) AEL ) ain o Y & S R
T T VI

Which of the following cranial nerve is known as facial nerve 7
Cranial nerve V11

75, ‘O WRRieN ZIOE’ e whe < ateta R |
s IV
‘Post Marketing Trials® comes under clinical trial
Phase IV :
T6. T e swme T 8w 2 )
Sy 1 A
The following schedule is dealing with incurable diseases : -
Schedule J
77, FEREE C, ctljﬂxﬁﬁﬁﬁmﬁ#mmﬁﬁﬁﬁﬁmﬁmﬂ#mﬁﬂm

% T et vee S % T amagee R A

T 25 o
Grant of licence to manufacture for sale or for d,l!ttihutmn of drups other than those
gpecified in Schedules C, C(1) and X requires ¢, __'*

Form 25
78. %ﬁzﬂmﬁam#wﬁﬁﬁﬂm%mmmﬁaﬁ T %9 3 1 TN
21
e e

The formation of plague inside the coronary artery due to deposition of the lipid content is
known as ;
Atherosclerosis ()

i

79.

formrferfian 7 & i o e SR (parenteral) 3w 1 i =198 g i afeets =
ghagmie

TR
Which of the following test suggests the presence of live or dead microbes in the parcnteral
produet?

Pyrogen test

1y T, s T8 e & FefafEn smaem g w0 62 1 s R

The following dispensary area in square feet is required in the 100 beds capacity hospital 7
350

Eli

Frerferfiaa famo & e fdm 8
TR e W1 T Hh T g |

The following is a feature of advertisement :
There is no direct contact with the costomers.

A

—

9
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82. Farsft 3 foig e Sqvereft o 3 Rl T ﬁaﬂ%lqﬂmﬁﬁ#mmmﬁ?ﬁ% 7
a1F ifd

The revenue is generally recognized at the point of sale, Which concept is applied in this
case?!

Revenue realization

#3. wmmﬂmm%m%mﬂ%ﬂmwﬁ%mﬁﬁﬁ%% A1 54, . B W e
HERH ot

When at least 51% shares of a business organization are in the hands of gnvernmﬂni;a, it' 13
called A

Gnmrnmartt COMpany -y

g4, Freferfiaa 3§ = A dfem et o s 5§ ware R o w87 & G
wel e
Which of the following can used as anti-dysenteric 7 e
Catechu ¥

gs. Terent 3wl SHferen wim ot TEE L | £
eter Ui A%
Identify the correct biological source of Vinca, :::“I
Catharanthus roseus !

86. mﬁgﬁqwﬂhmmmﬁmmwwi | i
The following chemical constituent is pn;ndupau;.r present in Asafoetida 7
Ferulic acid

7. ﬁmﬁﬂmmmﬁmmmﬁﬁmmﬁ
HhremEie

Which of the fﬂlluwiug.mﬁ@nt is used in the Osazone test 7
Phenylhyd rnzli_i:n,ﬁf‘

88, HOHL 4 Hﬂﬂqﬁiﬁ TSR] = T |
ol
Identify t,\ll'g‘vﬁ:ﬂmpln of sulfur containing amino acid.
Cysteine

89, 1 % = o Ty e wfteen o amanfi R 7
Pt K

; _-Whlch of the following vitarnin is useful in the clotting process
' Vitamin K

0 rrE 3 % H A R e R
A

Zinc chloride is used as
Astringent

&
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01, T T o I 1] SekATEIET T o S o e o femeRt ST R e

I

Heihl
Which of the following is used as Vulcanizing agent in the manufacture of rubber closure 7
| Sulphur
(02, Torerferiiaa 1 2 i A e HEH A8 8 1
T
Which of the following is not a filter aid ?
Cotton
93, el e o AH w1 o e
Empty capsule has a moisture content in the range of ~.
14%-15% O R
94, ol Bl iletiaa e 2 o &9 8 | S
A (37) 4
The following are sterile dosage forms except;
Elixirs o
95, U Sl ST IEmSmEAE
vt Pay
A suppository is generally intended for use in A~
All of these
96, TUEHEM (SIGHeds ) % EIFSH {mﬁ@}mm@rﬁmﬁaﬁ
gyt =7 A il o
The part of the prescription called mscrlgtmn contains
Name and quantity of ingredients
97. ﬁﬁ'ﬁ‘ﬂﬁ!ﬁﬁﬁﬁmﬂﬂﬂmﬁ'ﬂi'mﬁﬁﬁfﬂm%?
st
Which of the following d:‘ug',:.s used in Herpes infection 7
ldoxuridine
98, Feflan oar @mﬁﬁﬁs i & -
wmifRR .
The following drﬁg is a dopaminergic agonist :
Bromocriptine
99. ST, 9. ST i HEl SarE oA
" St
Choose the correct example of proton pump inhibitor,
Pantoprazole
100, PrerfeiEa 281 HMG-Co-A TA1§0 SHeR1 510 13 oL @ ¢ ;
Tgarefer
The following drug is acting by inhibition HMG-Co-A enzyme
Rosuvastatin

.
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o,

WuE-2 / Section-2
+% fiwa %ig / Trade Subject Code - 14
15 T / Craft Instroctor
afer T o1 W w0 geEE -
frrgmefin, T (o), 2ae W (e, fin
Identify the correct process of Block printing .
Desizing, Mordanting, Stretching on tables, Printing

&,

Bt i wrterrd 3 wd) e 6 oEaw W
() T TS . "'\.|"I v
(1) hidke el : & :
(1n) = werd ; fmmee we
(TV)) T : Fdledh i, o

Tl g E |
Identify the correct pair of Regions and cmhmiderit,_a,t'u: )
(1) Chikankari: Lucknow oy ’
(1) Crochet lace : Kerela p
(1) Chamba Embroidery : Himachal Pradesh
(IV) Kasuti : Karnataka Rk

. All are correct.

i

6.

g iz 3 siitferes TRt (Sfto) (O1) 1 wre 1 :

e e N0

-

Identify the Geographic/Indication (G1) Location of ‘Bagh Prints’

Madhya Pradesh

0o,

ARt (A): T v B e o e aferd wha e v e
et et 3 e 3w et B, Forlt -l S T 3 e 39 (Ascent) e |

s (%) e i entficdan zven el < e freth ene 3 vy et o

ﬂhﬁﬁd it werrfa o i Fafm femmn 2

(A) 3 (r) St adt €1

Assertion {A) : ‘Sujuni’ is a term crafiswomen of Bihar use for straight running stitch
embroidery on layered cotton, sometimes accented with chain stitch,

Reason (R) : Religions and secular narrative themes are illustrated in old Bihari sujums as
well ds geometric patterns; flowers and local life,

Boih (A) and (R) are correct.

' MASTER & A3_14
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70. w2 Ul F) e
(1) G, wetien e 1 vk areies fie, faer s weo o i g |
(ny  Fa faen & wawrg et <t mdon sl 3 weE s it gt Ty St S AR
T d |
(1) 58 34 % Ty Wil <6 oft wmrermm s & =it e o o w8, e TmaTs fifa-
FraTett 3 T 30 0 T U e 2 | 3w e Y Svem w5 e e
ot 3 WO B TSR W AR
et 11 3t et ¥ |
ldentify the correct statements,
(1) Sujuni, a traditional eraft of block printing, developed at Bhus‘ura._. m Blhﬂ.t'
(II) The rural women of Muzaffarpur district of north Bihar mqluma to embroider and
take forward the Sujuni tradition. '
(11T} This also assists many Rajput women who are living in ppv::rt;..r, but are prevented by
social custom from working. They now eam money whﬂe practicing a crafi that is
deemed ‘respectable’ by their society. .
Omnly 11 and I are correct. .
71, wdta fires wmew sﬂtmmﬁﬁﬂﬁaﬁﬁ
% feeell o
Where is the National Crafts Museum ﬂi{hsﬂmla Academy located 7
New Delhi
72, He BEEH SEEITHE S mimr}#ﬁaﬁwﬁﬁﬁﬁ,mﬁtﬂ{cnp}.% diEdt (CDP)
e R 7 e
One of major amnnﬂpﬂms of the National Handloom Development Programme (NHDP), is
the CDP, whagdﬂﬂ-s CDP stands for 7
Cluster Dmralnpment Programme
73, s (A) : Brefia T v B Eh gue fredi ¥ @ o @ ) A % v fene A

e it 3 wrelteTa T 3 O WY H IO § |

=T (R) : Fafeen wtess vy i &, i soe sl wed At gm o d R ® |

() ek, Ffm ) sREm s A TEE R

Assertion (A) : Ivory Carving is one of the oldest crafis in India. An inscription at Sanchi

refers to 4 guild of ivory carvers in the city of Vidisa.

Reason (R) : Vidisa is located in the state of Karnataka, and its earliest reference is
contained in Ramayana by Valmiki,

{A) is correct but (R) is partially incorrect.

3
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74.

Tl e & 3 g,

I
The term “Mojdi’ refer to,
A type of Shoe

15

T ) g, T wfert senieh veu ulma o B0 Sre RS e |
oo AR

‘Mendh ki chappai’, a beeswax resist block printing process, is practiced by
The Chippa commumnity

k¥

Th.

“firefy Femeprll wF el Frioat ) wgE : LY
Tdentify the tribes which create *Pithora paintings’ o
All of these

Tore w61 sl & a3 6 7 v g weer wefam’ {Fﬂkﬂﬂ‘i‘ﬁﬁﬁ
He B Feate e ug g £

‘CCRT?, one of the premier institutions working in the fhrylﬁ‘ﬁflml:mg education with

culture, Stands for
Centre for Cultural Resources and Traim_n;

Hﬁﬁﬁﬂﬂﬂ!ﬂﬁ I:_: |

e

L 3w w0 R L

Fﬂﬁiﬂ g
THw I wﬁ'ﬂnmﬁ

1. e e rr,@fl

V. Ferrnd Bz l1"1‘-_ﬂrr{

- e Irlf‘@t mmh& !a
dem:lf'y thn-l.:m'r:ct pair
l- fal Seroll : Andhra Pradesh
nting

.'-i'r.-_“' Ganjifa Cards : Bankura district

of West Bengal
l1l. Sanganer : Rajasthan
Prints
IV. Kalamkari  : Bihar
Prints

Only 1, Il and ITI are correct.
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78,

‘g i wRals poE HEE IR E 7
G, o, TR

Who i5 the author of the book *The Indian Craftsman”™ 7
Ananda K. Coomaraswamy

At A ) ggEE

(1) et (Heew) 817 WA o g ad swniaa anfédes nfafaliead 8 @ v @ wrmﬁ’m
it arel~aefion S Frafifast o1 v aifia 3 & 74

() ﬂmﬁiﬁgﬂmﬁjﬁmﬁm‘tmfm&mmﬂﬁmﬁﬁﬁummﬁ
& Fonu o 3 gt wenl ot wrell @ e ) R G 2003 9 @a%ﬁnéEﬂ |

(111 TRt 1 gererren & & Fepear o st 3= diemnfen S o fom s o o e
UL, TS H UE G, mﬂﬂmmmimﬁﬁnﬂ Tt AT S
¥ g R E | ”;;'

EZEVEOIE G o
Identify the correct Statement, 5

(T}  The Handloom Sector is one of the _hnnrgania:d economic activities in India. It
is an integral part of both rural and Ek:-n‘i,"r-"rurﬂ livelihoods.

(I} The scheme for setting up of m;'!.‘lﬁn haats at prime locations in the country was
introduced in 2003 to cnalile the participating weavers/craft persons to sell
l*.aruﬂ::mma’han:lmrafts prqihé;m directly to the customers.

(II1) Awards like the Sant Kabir Award in weaving, National Award in weaving, Design

development in H&mﬂl_!ipms and Marketing, National Merit Certificates are given to
weavers for ﬂmp@mﬂ:l’!m in the handloom sector and encouraging them.

81,

Only I and 11 jare correct
weiferer anfifs e s e e Ry v i st R s e 7
o
The dcclaimed annual Surajlund International Crafts Mela is held in which state ?
) Haryana

H2.

e, s # el @ et BE & i weg 1 3 R 7

W wEE

The Gonds, are the largest adivasi community in India. What does the word "Gond™
signify 7
(reen mountains

9
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LER

sfferTeTae e #, erhrt & fon anivtes wmram R wmftm s e |, 9 e amh
ATEME 7

(1) 72
(2) e o S e
(3) ST

(4) T HIE 2!

In Srikalahasti Kalamkari, the traditional solution for Ime drawings called gs'-.’]msun i5
made of what material ? )

(1) Jaggery N

(2)  Rusted Iron in water 2

(3  Binder Ay

(4) Palm Jaggery LY
1,2, 4 A

HRE! s
Kalamkari produced at Masulipatnam SMmiﬂhmm-uf which western culture ?
Persian A ‘T'

Wﬂﬁﬁﬁamﬁmqﬁﬂﬁﬁqﬁﬂu‘gﬁuﬁﬁ 7

85.

ﬁﬁrﬁ#mﬁﬁmw!ﬁrwﬁ
Teregerg ferenrdl: TrgRT

ldsr.ufy the correct pamm;ﬁ context of Painfing :
Pichhvai Paj;-;lu'ﬁn Nathadwara

mm]fmﬁw#aﬁmﬁmﬁﬁwmmﬂimﬁ 573 Faeal
aﬂtmﬂmﬁﬁmﬁﬂrﬁmmwanﬁmil

A (R) c fefta, =me, wure iR wto e e o s €, ets e, wmarh

qﬁ%aﬂtﬁﬁﬁﬂ!l

(A 3t () AT Ed E |

' Mﬁﬁrﬁu_n (A) : India has the largest concentration of tribes after Africa. There are 573

tribes in India and tribal communities comprise about & percent of our population,

Reason (R) @ Pithora, Warli, Santhal and Saura are examples of tribal paintings whereas
Pichhvai, Mata ni pachedi, Patachitra and Phad are folk paintings.

Both (A) and (R) are correct.

9
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87,  ATHHEA (A) = SNTTISTR Shiel © Teel el 31 fed 5 WG A e o | fred @oEr &
woTe o s s sl wEmgl S o = 8 geaen B o se wn R o gty el

o |

T (R) : Pl 3, e s e w3 whi w6 s #§ e 6wl

HIET EIE HTE TEen e |
(A) 3R (R) ST aE E |

Assertion (A) : The term for art and craft were synonymous in India before the ﬁ'uinniﬂ]
period, The crafis community was recognized as a crucial and important part of sumrfty on

whom the development and enhancement of life depended.

Reason (R) : But today, the attitude of society towards crafis and the crafis mn:pnum!:.r s

the first stumbling block hindering the progress of crafts in India.

Both (A) and (R) are correct.

-

g8, Frefefiza =t femd .

I Thter (i) @ e & o e A
% ¥ 0 w9 % W
TSl T I = |
o farew grn it wregant

Fﬂmﬂ'{ﬁiﬂﬂm'

i unfrEn :ﬁhﬂtﬂﬁiﬂﬁ%
mﬁﬁmmml

2 mmit () aﬂﬁﬁrﬂfﬁmm
% TR @ A T
B At B ) 2 A
fera fied, w1 351 i,
R T, <, w,
OV vty e = 3gEm T

H:— TSR |

. fweft (i) A 5.7 B =R mm
FAMETE |
e (iv) a8 =epft  AFEEn @
TR RERT o | 4g e &
(W weh)  we IwiE SN e W
T‘rwﬁﬁﬁﬁﬂﬁaﬁﬂ?ﬁ
|

4.

-

w

L
W

.‘.\‘l'h

ﬁfll \
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Match the following ¢

I. Ganjifa (i) It s a craft which utilizes
waste pieces of cloth as ils
raw material, Arficles
produced by this craft were
used by kings and
emperors as shamiana and
chandowa,

2. Sanjhi (i) Preparations for thesc
paintings begin a week
before Dusschra. Clay,
cow dung, terracotta, lime,
turmeric, colour and

clothes for dressing the .\IL:"

Goddess are used. s

3. Pipili (iii) These are  handmade, e i d
Applique round-shaped playing A
cards with 5-7 cm diameter
dimension. \

. X .""'\. -
4. Thewa (iv) This was an inventionpl *

Art Nathuni Sonewalla. It s an

Work intelligent application™ of
art over utility QDEF fusion
with jewelry, .

1-ii il 3 v

89,  Feifim fired 1 338 aude el et 35w ifer e

1. wretere '--*!}:; -Eﬁﬁmmwm

2. e fuiy i e R

s AR il wr i

4. e iv, A% = 9
J'-.-Ig‘t;;h the following Crafts with their appropriate raw material :
1. Kalighat Painting i  Mill-made paper

2. Kondapalli toys ii.  Wood of*Tella Poniki™
3. Chettinad Kottan  iii. Natural colours
4

. Kalamkari iv. Palm leal
1 20 3iv  d-ii
9
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sftee (A) : Tl o st v s wafmm 3 o e afho o ﬁmqaammsﬂ?

90,
3 | srvefior RaveerTil =1 3 3 G el Iavire <R v 3 e s afifi e e §
A (R) + GuesTela v e i fe it v 3 uf s o afided 98 e § W@
st or s T faame & wur B E |
(A) 3fr () Sl wdt B |
Assertion (A) : Design and product development are an essential mput for the survival ",EI!'II]
economic empowerment of crafispeople. Rural crafispeople need to be exposed and u-ama! iy the
language of today’s conlemporary urban consuter.
Reason (R) : The contemporary consumer is not often either sensitive or responsive tu.l'ﬂlglﬂm
themes and symbols that usually dominate traditional eraft design. 5 ._..1.
Both {A) and (K) are eorrect. o
o1, v ey ﬁmﬁ%mmmﬁﬁmﬁmﬁﬂfﬁhﬂﬁ ﬁ*ﬁﬂw i
FTIAT 2 TS A 7 35
e ST T g 7,
Which of the following organization was sct up by the Ehﬂthaga:h.}'hhdinmﬂs Development Board, (o
honst the local crafis 7 - i
Shilpgram Sevagram Narayanpur o
92, frari mfsat Ree s d 5w E 7 ; vad
Ty e
Paitliani saris are woven in which state? (7
Maharashira . 31"1
93, el ifE F i T ol s R :
feredhey & wuifitr arErt ﬁﬂaﬂﬁﬂﬁ! T T, aﬂ!ﬂﬁmm,ﬁr
e it frnfim €, ﬂqﬁ@ﬂﬁi |
Identify the correct 5tulx;i‘§_1;‘r-i"’t"in the context of Pithora paintings,
In Pithora rtls%d rituals Women are not allowed, Only adulis, and that too enly men,
who are adnliss nﬂ.marriﬁ'l can participate.
04, HARERTT (4) * e 1 1 e ufer o fere s el v o 6 ween Rt e o o

MWM 1R i s R R E

mﬁmm% o A O i o g e af il 3 8 e o e e R )
O (R) - e T R e e wenee o v i e ofh e B o

(A) ¥R (R) it ot & |

Assertion (A) : Giant Monolithic ca:vhig of the rock cut temple al Masrur in Kangra is a
magnificent example of the stone carving heritage of this region, it is meticulous in its attention to
detail and delicate chiseling,
Reason (R) : Early Pahari carvings were highlight of stylized and imbued with mobility and
organic action. These images are still being carved in Kangra.

Both (A) and (R) are correct.

SR
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05, ird g Sl e fovm e g g ol 7 ol
In which year was the Make in India initiative launched ?
2014
96, W 221 e R A 2 e @ 7
afterg
The ancient Toda embroidery belongs to which region 7
Tamil Nadu
o7, wfirg & e mia e Fein e :
irdh 2 el s
Village of Longpi in Manipur is famous for the creation of X
Pottery :H’
98, & el i TR W, ~y
1wt e el sk s det g R s @ s e, s, mmmﬁmﬁﬂmﬁ
% 5 it % Few, srehifa w1 o s St AR EE R | A0
1L & It gl & =ie ﬁhﬁ#ﬂmmﬂﬁqmﬁmﬁmﬂ%ﬁmmﬁrhﬁﬁ
el 8 |
11, - - = wfafien & v w 2 % v ﬁmﬁami%%hqﬁﬁmﬁ el
et e o WS T @ e St R 1 S e wrefien s v &, Srafs e
aﬁammaﬁmﬁmﬂnm%ﬁﬁﬁwmt |
Hﬁmt | ,,‘.._‘“'
Identify the correct Statements, LN
L Bamboo craft is practiced both h}rmq:fx and women and is & traditional and hereditary source
of livelihood for several people i the states like Gujarat, Assam, Uttar Pradesh and Kerala,
. The bamboo and cane crafi of the North Eagtern region of India represent a large storehouse
of forms and traditional wis
M. The forms of several baskets have evolved as 4 response to function, for example the open-
weave baskets of Mizofam are made flexible to allow carmrying of firewood, while the close-
weave baskets of (Meghalaya are used to transport and store,
Al statements.dré éorreet.
99, ‘mIf FeTAeRICY, Shi HE) ST T -
m#ﬁﬁmaﬁ, e B P T, B A 1 e, e § g
Identify thie éorrect process of ‘Batik Printing’ :
(Cleaning of the fabric, Coating with the wax, Immersion in Dye bath, Dipping in
hot water.
100. Forte (ESFR) See) ol Ueh A T WaT el o 10 A8 419 = 2006 3 95 1

o} | e R

Hzep vk e

This scheme was launched in the year 2006 to provide a collective identity to the
handloom products. Identify the scheme.
Handloom Mark scheme

9
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WUE-2 / Section-2
% g 12 [ Trade Subject Code— 15
74 fwraee [, 9184 [ Nurse/Compounder/H. Warden

6. AT o e o el o 8w an el avee SO ey
T 1%, S, W9 1 |
From the following which fimiture should be provided in the hostel room?
Book rack, cupboard, cloth rack

67. OEIEE % S 3t 26 D1 b Feru, e ST I Y, T =8 ? %

How many toilets should be provided for 2 — 6 students in the hostel rum‘p ?.,:‘.‘-‘ '
1 ol

68, m%wﬁﬁﬂ%ﬂﬁﬂﬁﬂﬁhmgﬁmmﬁﬁwﬂm ?
e 3l e aftm ;h

From following which facility should be provided in bathroo tw;rq,f the hostel?
Geysers and wash basins

69. mﬁmaﬁmamﬁnmwm@aﬁmp

(A) 3t (B) B P
Which facilitics should be available for smdants 'i}l:ffa:r:ﬂtmn in the hostel?
Both (A) and (B) N

70. PERT 7 13 s 27

s YA uE freg dwts "x
What does the term PERT _
Program Evaluation an Im Technique

71, Famteran & o 7 weves 1w v 27
R A0

From the faltﬂwutgnﬁ.ﬂ-hl is the role of a Nurse Manager ?
Communication

72, ﬁﬂﬁmi}ﬂﬁ@ﬁﬁﬂaﬁmm%mm%?
mﬁm

From the fillowing, purchase of the land comes under which budget?
Capital Expenditure Budget

73. e 6 e Siett o T s eyt 3 Fioka o 8 a1 siefied] sh anfiver e &7
leuied

In which style of leadership the nurse leaders include their subordinates in goal setting and
decision making 7
Demaocratic

74, INC TF2E! % srgan vgE =6 ug o Tom sk sl e Fn e ae 7
According to INC norms, what should be the leave reserve ratio for the head nurse post?
0%

Al 15 9 76 MASTER




18, ﬁnﬁaﬁaﬁﬁﬁmmﬂﬂaﬁg{maﬂtmﬁwmﬁmﬁwﬁﬁﬁﬁmﬁm%?

e
From the following, which is the oldest and most widely used method of teaching?
: Lecture
76, Wi o7 srEen 3 oieda & fr e wme = i Rea A Ry
At
What is the term used for the change in response or behaviow? A
learning .fh::“ .
77, TN TTE T STERT TG BT =R P ’-‘ﬂ'ﬂ::]
What should be the size of the flesh cards? o
2530 cm Fe
78, P g ) e s o o o e R0
R e &
From the following which is the criteria for selection ufmﬂm visal aids?
I subject relatedness "‘y
79, W#ﬁﬂwmmmmﬂmﬂﬁﬁm#mﬁ HTOOTI &, TE 91 hEell A7
i C -
The data collected during assessment, vﬂ;& i3 the perceptions of the patients about their
health is called as .
subjective ‘-“ -
50. ﬂ%gﬂ:mﬂttmmmﬁmﬂ ﬁﬁm’iﬂn:mwmm% THETERE B
IHE ﬁ:xﬁ !
Assessment of the .;‘lF}ahd body temperature, which is measured by a thermometer, is a
type of
nhjﬂl:!i'b‘l:aiil
81. mgmmﬁm%%ﬁﬂqﬁmiﬁraﬁmﬁﬁnm # sfies =l #FT =nfam |

Fur gvﬁg retained enema, the quantity given at a time should not be more than
. 100-150 ml

B2. 'ﬁmﬁmﬁﬁﬁm%ﬁﬁwﬂﬁmﬁﬁwm#ﬂﬁwmﬁﬂm

! Hirag A E, e e B

e g U

The wound which is in aseptic condition but involves body cavity where normally micro-
organisms are present is known as

clean contaminated wound

MASTER 3 77 A3_15




43, v =T o e 1 A B sl e i e Pree o) £, 39 =i % v swems &
wY W A T SEATE B 7

ATt <6t 19 TE = w R |

A person is having the stomach wound with the intestines coming out, what will be your
care as first aider to the person?
try putting back intestines in the stomach

84, Tora 3 wemfim st rigen maa =) @ wer ae R 7

The fibrosis and nodular formation in the liver are called as )
eirrhosis *(
85. wﬂmﬁmﬁnmﬁﬁﬁﬁhﬁﬂmmmﬁﬂmﬁ#ﬁw% ﬁﬂﬁmﬁﬁﬁﬁ
W E? oy,

The impulse waves of heart’s rhythm which is recorded by ﬂ-qqs E'.E.'Er machine on graph
paper, is designated by the y

i W

P, QRS, T ‘a

86. mﬁwmﬁﬁﬁmmmﬁmmtf

ks UL
The fluid collection in the pleural space nf’r.hh-hmg is known as
pleural effusion e :

§7. wEwEeell  whiwdiERt R o
FlEg] Infes 1"-3; g
The trachea is composed of
hyaline Hrﬁ!lges’a,l\' D

88, T FI fiﬁ-‘ﬂﬂ'ﬂr-" Wﬁ wgedl b
A

The ﬁ:mtiq-nﬁ?pﬁitﬂ of the kidney are known as

nephron

g9, e Hd ol i wm 2 7
i 1 I AR

. From the following, which is a function of the kidneys 7
production and secretion of renin

g0, T iR fefm K e s g e
g

Where is Vitamin K stored in the human body 7
liver
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91.

i 3 il e e T ) R A o B

HifEam

The regulation of water in the body is closely linked to the regulation of
Sodium

92,

Tafim 71 o o= Vi a5 =) #m we =i w0 W R T
LG

A reduced ability to distinguish between different colours 1s called as
colour blindness

93.

T TR U o Thehe o S, Tt ol ol et A o @‘%ﬁra—m% o Tl
T 1 o o et R "

b

(g d
According to National Vitamin Aprophylaxis Program, which children mtﬂi:rcgven 1 diose of
Vitamin A if they have not received it in the previous month 7 O

having measles )

o4,

AT % 918 B St e B

The acceptable noise kevel in the hospital wards is
20-35 dB

A &

L+
"1_..

95,

¥ TR < T < S ] S H %m e B T2 B B e B |

T'he permanent hearing loss may occur as a reeuh-n.f'repeated OF CONtNUOUS EXposure 1o
nose around ; x
100 dB

9.

mmaﬁmﬁmmmﬂ;ﬁﬂWﬁ‘hﬁﬁiaﬁEﬁm%?
R i

Which eating disorder is mmn‘u;‘rﬂ;:antn in the adolescent girls more than boys?
anorexia nervosa

37

ﬁgﬁﬁmﬁ%m%ﬁmﬂaﬁhmﬁﬂﬁm#mﬁ?
feaferam

Which is the choice nf muu-d stabilizer drug for treating the bipolar disorders ?
Lithium ~

aﬂqm?ﬂmmwﬁraiﬂ A B 7
LR

Which yaccine is the least sensitive to heat?
' ']'elnnns toxoid

99,

ArEETs e BT (BR) @1 ATl o S 3 e gr Hfid R w87
Eicaeou]

The susceptible host may be protected by the transmission of infection by whom?
immunization

100, F=1 <h) S 24 % Teu e e =61 fera seidter Sene wa 87

How many centimetre of dilation of cervix occurs for giving the child birth?
10 ¢m

¥

MASTER o 79 A3_15




WUE-2 [ Section-2
o8 o 18 [ Trade Subject Code — 16

T (36 / Tracer
66. ot a1 ok e o) S 2 o+ 3 3w 9 6 v B | e s et 3 e = s e
L
The length of a side of square is given as 2x + 3. Which expression represents the
perimeter of the square 7
Bx + 12 ™)
&7, ﬁmmﬂmlzuaﬁmimmmﬁmmtmmﬁﬁﬁm
2 Y
The area of a rectangular carpet is 120 sq. m and its perimeter |54ﬁm Then the length of
the carpet is : - L
15 m b,
68. ﬁmﬁgwmwoﬁr{mnmuﬁmmﬁﬂamza ﬁiq%wﬁﬂw = 9,75 Ht 3 OR
= Al mae et ) B &

The perimeter of two similar triangle MNO and 15 78 cmand 23.4 cm. IFON = 9.75
cm and QR = 'x’, then the vale of 'z’ i {mw,
2.925 i =

69, o G ABCD %1 &% 300 cd 8, AB 3 CD 3w 1 gft 20 ft 2, i BC 3k
m%ﬂﬂﬁqﬂjﬂﬁﬁtimﬁmﬁimmmﬁhw%?
The area of a parallelogram ABCD is 300 e, The distance between AB and CD is 20
cm, and the distance hﬁw.%;} BC and AD is 30 em. What is the perimeter (in cm) of the
pmllelngram'i' 'y
&)

0. W#m@ﬁmﬁﬁﬁw 12 Tt s et e |
2691

Caluylau: l,hE'. perimeter of rhombus whose diagonals are 12 cm and 5 cm long.
. 4 ‘16 cm

., ﬂ.ﬁ:ﬁmmmmw (B! ) e s | (x = 22/7 7)

. Find the perimeter (in cm) of a semi-circle, having diameter of 28 cm. (Take = = 22/7
72

72, U ) S, Tomesr ue T 3.8 dterean @, TR
The area of a square, one of whose diagonals 15 3.8 m long, 15 :
7.2 m*

Y
A3 _16 | i  AB MASTER




73, T SRR AEr 1 T e 8 vilet it g uek fae 10 et | SRR e
e T

48 =i iz

One side of a rectangular field is 8 metre and one of its diagonal is 0 metre. Area of
rectangular field is
48 square metre

74, W BRI S (om? ) T shifoe Fornt s 11 W SRS 1282 | .
Find the area of a triangle (in cm?) having base 11 em and height 12 cm. '

Wy

78, aﬁmmqﬁaﬁmmﬁaﬁm 8 Tl 3fiT 14 B0 B icmiﬁm ﬂpﬁmmﬁ
hifau |
If base and height of parallelogram is 8 cm and 14 cm rrr.sp-v::-.i;rr.fn::l'j..t1=l 'i-'mﬂ its area in cm?’,
112

76. 2T o ERe 800 m? (3 Hiey) B imwﬁﬁﬂ&&aﬂtm 125t & | e
Fard WA i | .‘f‘k'

40 i | O
The Area of trapezium is 800 m*. The Iangt]m‘ﬂfﬂm parallel sides is 28 m and 12 m. Find
the height of the trapezium.

AZ"'
40 m

77, ﬂﬁmﬂaﬁaﬂiﬁtﬁwﬂ?mﬁlﬂﬁmﬁ% zoeT B (cm? ) 1 Hifm
If two diagonals of rhombus uﬁH’E-t'.m and 20 cm. Find its area (in cm?).
180

78, ﬂﬁ@mﬂm@%&mﬂ%mt,ﬁmmﬁhﬂaﬁm% (n=22/7
. g
If the perimeter pf. -ﬁ wele is equal to that of a square, then the ratio of their areas is (Take
p222{N. Y
1 D

"

w.__qﬁ&gamc.}aﬂaﬁmtmm oFnft st AC = 15301 & | BC T Hifs |
I'Ifm:mgh: ABC, right angled at B and AB = 9 cmand AC = 13 cm. Find the BC.
12 Bt/ em

80, f3gs ABCH, AC=+/180, AB=6, BC=12%|4B=FN1"
In a triangle ABC, AC=1/180, AB = 6, BC = 12, Whatis £B = ?
90

E} 5
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8l. 3.5We e
18480 612
3.5 mile is equal to
| 8484 ft.

2. dreied 3 ;7% s E | wensit A s60 B, 7 6 wen & _
Two numbers are in the ratio of 3 : 7. If the sum of numbers is 560 then the small Mlﬁkm

. IH
m’ W W

168

§3. T HE 3 ;22 5% AT A & 3k Ik it A 1862 B Hend E ; .

21, 14 3R 35 .

Three numbers are in the mtic.'r 3: 2: 5 and sum of their SQUATES 15 T’Eﬁi'.. The numbers are :
21, 14 and 35 4“

| T |

i
w

84, 1.3 Torm w1 foreen whtm 3e0 o B 7 A

L |

What percent of 1.3 kg is 390 grams ? b
0% N

85, o Ifigan & i v g 1, ﬁémﬁ:@ﬁmm%mgmﬂnmﬁmwﬁiw
§ oma o fomn | afe w9 mnﬁu“rhﬂ‘aﬁfﬁ:mﬁm oz T R e T
R7 {"1_"*-..
In an election between two cﬂndl‘ﬁtes. thﬂwmmrgﬂt’?{ﬂ"&nﬁnmlvﬂtemﬂmdwunme
election h}ramjnm}ruf;l%ﬂ votes. What is the total number of votes cast if no vote is
declared invalid ?
3225 A Pyl

86. 2 25 gl o T 18 e 5 o g B e R | T o4 7 Y 94 T MR |
. 1

350 [9% T
llfq‘}gl.{tj]:&im of 25 articles is equal to selling price of 18 articles, find gain % or loss %.
A 350/ 9% Gain

g7, | afs i 1 129% o g & sft e Ribm w1 8% wmn g 2, o) v 2ot & Ieaed Hi
AT 1A e, Pt e geq T 60,480 8 |

If the manufacturer gains 12%, and the retailer gains 8%, then find the cost of the
production of a table, the retail price of which is T 60,480 7

T 50,000

Al 16 3 , 82 MASTER




8. ﬁﬁmﬁuﬁuﬁﬁmzﬁmﬁfaﬂﬁmmaﬂtam#rzaﬁif%ﬂqs*}mﬁaﬁeﬁmﬂgmm_'
o o | R AR 5 ETE 3 S B 2 480 91 e W S S & | 36 R e 3umn
fEn 2
Hitesh borrowed some money at the rate of 2% per annum for first 3 year and at the rate of
5% per annum for the next 2 year. If he pays a total simple interest of 480 at the end of 5
years, how much money did he borrow (in ¥) 7
3,000 : y
§0, ¥ 1,550 = Ul w2 = & W S qee 1% % 7 1,450 o T = A T 20 SR
# =k 2N
Simple interest for a sum of' ¥ 1,550 for 2 years is T 20 more than the simplt.-ﬁeresl for ¥
1,450 for the same duration. The rate of interest is \
10% =
90,2 10,000 91 TR T 4% e o <hY 2T B 2 W1l W TIROT S s e % w3
27 (T H)
What will be the difference between simple and compoung ifiterest (in ¥) at 4% per annum
on a sum of T 10000 after 2 years 7 Gy
16 \

2 l&-h_“.r
91, T 13.400 T 8% v o g d 2 wie & ferw, wprgha = (2 ) S i
Find the compound interest (n 3} on T LE_,ilﬁ}m &% per annum for 2 years.
2229.76 . o)

02, R R @ 30, 72, 53, 68, x HLR? B 3fe 60 B, A xHI A R:
If the average of six numbers 30,72, 53, 68, x and 87 is 60, then the value of x 15

50
03, 6 3 34 % =t 5 farrsy wof) w1 sfA b

iy

The average of all mF‘.,memhem between 6 and 34 which are divisible by 5 is :

w {
04, 2 HR- 3T SIS AR 105§ | SR S ST B e
Produgt of wo co-prime numbers is 105. Their LCM should be,
105
95, aﬂﬁﬁmﬂ?:atwﬁ%mmwmzmﬁ,ﬁmwmm
Hifam |
' If two numbers are in the ratio of 7 : 3 and their LCM is 294, find their HCF.
14

96 qﬁm%ﬁﬁmmw;ﬁﬂ%ﬁﬁmmmmmﬂﬁ}mﬁ|

Find the volume of cube (in em®) if the perimeter of one face of a cube is 36 cm.
729
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07,

A% 5 G o el A AT R e TR A g T e STt e 1Y AT ST &, 7t ot
1Y T A &
If three cubes each of side 5 em are joined end to end to form a cuboid, then the Volume of
resulting cuboid is:

375 cm?

|

) Tivett o6 UL el S 16 9 B | Ik ST 1 I 8
The surface area of two spheres are in the ratio of 16 1 9. The ratio of their volume is |
64 : 27

e Foevet o1 e 10 21 & S 361 ATE 4400 o’ 8 ﬁﬁtﬁﬁé(ﬂﬁsﬁjm
hifa | (e =22/79) N

A cylinder has 10 cm radius and its volume is 4400 em’. Fmdtheha;ghi.g‘ﬂhﬂcyhuder{m
cm). {_T ake w=22/7) "

'\\ .

10,

4 1ﬁﬁaﬁmmﬁﬁmnﬁaﬁm¢mﬁmﬂmmﬁa AR
The approximate volume of the largest right circular mnl:,j:hal can be cut out from a cube
ofedge 4.2 cm is ; "';.

19.4 cm” Ly

. Y
¥ O

A3 16 84 MASTER



wE-1 / Section-2
P2 f =12 [Trade Subject Code — 17
waeen Figaed | Havildar Instructor

66.  rite wrar Y Frafie i 3 fea e & e & e san e § 7

Ll
The Indian Constitution has borrowed the ideas of the preamble from which of the following -
country 7

USA

67, TEGA WA % T Teem e e Uy A
Whao was the first Foreipn Minister of Independent India ? T
Jawaharlal Nehru -

68. T2 7 & 919 I e W ST HA g ? R i
- fa ...'-'r-

Who among the following is the  Chairman of The Upper huuse@
Vice-President o A

69, SrATA BT (A 1) 200 B e e %‘I“‘l@'ﬁ

How rmn:-,l Fundamental rights given to us by lndmmﬂquhh:hun (Part 111} ?

0. wmtmmﬁmﬁaﬁmwmh
iftrer = et 3 : ,ﬂ

Which part of Indian Constitution mnta.m@-ﬂ'[e fundamental rights of the citizens 7
Part 3 of the constitution

T, e S, ey e = P
T g

According to Indian Cnmhu}ﬁn Article B0 deals with which of the following topics 7
Cnmpudl:lﬂn of the Council of States

72. TEafA At mﬁﬁ!ﬁﬁr Tormgfen Fpudh) weme W # 7
W

The Premdpm ap[mmla other ministers in the couneil of ministers on the advice of
Prime Minister

73. mﬂ'qmﬁmﬁﬂﬁﬂhﬁmmuamwmmimmaﬁﬁﬂ%ﬁﬁ H o T
Hﬂﬂﬂmiﬂ?
- v % Wil % Ty

The Council of Ministers in a Parliamentary type of Government can remain in office till it enjoys
the support of which of the following option ?

ority of the members of the Lok Sabha
74. Fm&ﬂﬁﬁgﬁmﬂmmﬁﬁ%wﬂ et Gt o Tkl B 7

it =i
Whao among the following can declare the election of President or Vice President “Void" ?
Supreme Court

MASTER .y 85 A3 17



Sp—————— et L e
FET 162

The cxtent of executive power of state to make laws is stated in which of the following article of
the constitution 7

Article 162

6. ST HET WER JA Fra e i P e o e mﬂ#hﬁﬁmﬁmﬁiﬁmﬁmﬂ
B #7
The house of the people cannot consist more than how many members o represent the 4

Constituencies of the States by direct election 7 v _'}
530
77.  wwa = s ¥ Peafefes @ & s m m@aﬁiﬁmﬁﬂﬁtmmiﬂﬁ#ﬂﬁsm% 7
e, 32 O
Which of the following article of Constitution of India gives Supr:me C”nut't l.he power to issue
writs 7 *
Article 32 O
78, v wfae # fre gt R r;_-:i'-;"
How many schedules are there in the Indian Ennsﬁtuﬂqnﬂ?‘- '
12 v
79, Forfert & oy o g e 3 e ) ot g v = @ e 7
i X )
* Which of the following Schedule deals 1.5'tth State list provided in the Constitution of India 7
TH" -E' l_ I'r\.
80, et wiEaE = W zﬁm‘ﬂa‘hﬁ'ﬂrﬁmmﬁmﬁmt ?
TR L'-'f )

Part 2 of the Indian ir?i;m[ﬂmtmn deals with which of the following matter ?
Citizenship V"

B1. ety Sfve e 124 % AT HeTe e & e o et A s e g
65T "
.ﬂ.:p_c.';:'i;ing to article 124 of the Indian Constitution, what is the retirement age of a Supremse Court

: 65 Years

2. .ﬁw%wﬁﬁ#ﬁmﬁﬁmﬁmﬁﬂﬁﬂﬁﬁaﬁﬁwﬁﬁmﬁmﬁuﬁﬂ
o) 1 T A
The salary and other conditions of service of Judges of High Court, shall I:u: such as may he
determined by which of the following 7

Farliament

A3 17 3 86 MASTER



B3, Ul dhl FAre W) i ST e S SR A o et ) A i A
Hhirem & Pt o @ frm ar=te o R gy
ey 332
The provision for reservation of seats for Scheduled Castes and Scheduled Tribes in Legislative
assemblies of states is provided in which of the following article of the Constitution 7
Article 332
84, TEHTE (RTI) SRR 2003 o 80, e G S & e gad AT & 91 a:ﬂmmﬁﬂ'—’r
ST TR TR W 7 e,
[
Under RTI act 2005, Central Information Commission shall consist of not more than hnw:nnn_-,'
Central information commissioners along with Chief information commissioner 7 T
Ten e
85, aAATHTS (RTT) s 2005  fom e & Mo 4o e A m"rmﬁﬁ{ﬁmi 7
=T 14
Under which article of RTI act 2005, removal of Chuefl information cmmmibm is provided 7
Article 14
§6. WOTHIL (ATl SATHTEA 1988 @1 H 1ﬁnﬁmaﬂﬁﬁmﬁm:§1
Terdrs =araefter g oo it ofes K

Section 3 of The Prevention of Corruption Act 1988 deals mlﬁ‘wﬁmhufﬂ:e following 7
Power to appoint al Jud

87, W e st 1988 1 Pt 1 3 fr ﬂl{ﬁiﬁﬂﬂ i e 3 ST S W o

ey 2 fe afiEino e @ 7 )
L)

Taking gratification, for exercise of pe:r&mml'-l;iﬂumsn with public servant is under which of the
following section of The Prevention of Cﬁrn.!ptlm Act 1988 7
Section 9

T wE wAtfEm 1980 % mmm ety freft & 7
12 WEA ”

What is the maximum pnmgﬂ-!nf detention according to National Security Act of 1980 ?
12 months

T o s o fira aﬁgﬁﬁ%aﬁ TR o ) AT H e = g ot R

IEpE 226,
Under which :-tquzh: of Constitution of India, public interest litigation is filed in the High Court of
India? (e

Article 226

9.

TNt 7 @ T80 W B wiee A1 o e & & B S S
s GRIRCR L
Who among the following is known as the Father of PIL in India ?
Justice P.N. Bhagwati

91.

T TR o [958 4 ST 31 7 - 71 ST S W 5 e oty e Rt 1 & fo am
¥ e SR ¢
Fmadiet w121

mﬁ, or atlempling to wage war, or abetting waging of war, against the Governmeni of India is
cmr under which of the following section 7
Section 121 of IPC

3
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(02, 1PC 7 O 74 % SIER T HIOEE e (e 8 00w T8 @ wien
weg

dﬁtwrmﬁng to Section 74 of [PC, in any case solitary confinement should not exceed how many
ays !
Fourteen

93, =k w0 3 e e A = e Eeeieien 1 W e o st ol | g
LG .
st 6t T 77 oy
Acl of Judge when acting judicially exempt from criminal liability by virtue of which of ﬂ1l:. o

following 7
Soection 77 of TPC

94, Fafit = Fefatia @ @ o fgm o e v s
i Tie welEr (e T ) 0
Matural Justice doesn’t recognize which of the following principles 7 "
“Pacta sunt servanda®

e

05,  Frefefisd 1§ # Fers simia Tt i 5o i e 8 7 A0

Frddtet &t amm 363 '
The punishiment for kidnapping is mentioned under which of the fnﬂﬂwing T
Section 363 of IPC

96. TEEOAY (SDMA) i SE i 1wl # 7 A

Who can be the head of SDMA 7

Chief Minister o
97. UAEIET (NDMA) %1 90 &0 F 2 7 N
e T Ao artich )
What is the full form of NDMA 7 A
National Disaster Management Authority

98. Tarferita A 4 e g A, mﬁm%mﬂmaﬂxwﬁﬁmﬁmﬁgﬁﬁ?
4 fama

[n which of the following list; is the M-unt}f-lendmg and money-lenders; relief of agricultural
indebtedness, acmrdmg lu E‘E:.rénﬂ: schedule 7

State Subject

99, mﬁmwmﬁémmmmﬁmmﬁpﬁ%mmﬁwmmﬁ 7

upy 322

Which of the EI!F.'I.II article of Indinn Constitution provides details on expenses of Public
Service C fa{} %

Section 322

100, 2004 &, it g wfirta 3 Foetetiee 4 4 f R 8 qun 6 frefo & =6 7
y l-- I'ﬁhﬂl #T .
T 2004, PC Hota Committee recommended for reforms in which of the following options T
' Civil Services

R
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WUE-2 | Section — 2
7% g $12 /Trade Subject Code - 18
fefrmafdie / Physiotherapist

Terafetfiar H # =1 grey it e gaed) el (distal row carpal bone) 3 78 & 7
TR

Which of the following is NOT in the distal row carpal bone ?
Triguetrum ¥l

L

Frtferfia i & ¥ a1 gl i & 2 A0
et - o R\

Which of the following is water soluble vitamin 7 - ,l:, 3
Vitamin - B b

m@ﬁmﬁmﬁﬁmmﬁmﬁwﬁﬂWﬂ%*Mﬁ W B B
% P
e i
Solution used to clean the surface of CPM, Jflt;%:uftd with blood stains is
Bleach

6y,

i Fefemeen 3, S s i s, aﬁrmﬁm LG ) N {

In wax therapy, Composition c:f.g-::]id wax: liquid paraffin : Petroleum Jelly is
7:3:1

7.

Pt B8 1 P g O o e 8 7

! A
Which of the f’f_“-!‘?“"ﬂﬁ 15 not the method Lo apply LASER 7
Tﬂp:'w'!ﬂé

T1.

w fifeet i HEPA F1 s 3 & 7
| ek uftsreh e v
Tivair filters, what does HEPA stands for 7
High Efficiency Particulate Air

[ p——— rv—

Central skeletal muscle relaxant is
Diazepam

MASTER - : 89 A3 18




73, I TN W 0 S A e 1 e o e & e e o e ;8 7
e

Transmission of Heal epergy from area of high temperature to low temperature through a
direct contact is what 7

Conduction
74. T A | = s e og @ e e | veg w2, 9§ g e g, nﬁznﬂl%mﬁ
fgur e d 7 e
T Q"

Which of the below aasana helps in relieving back pain, improve dg«u&mn, improve
function of prostate gland 7 = E ¥
Salabhasana o

75, AT S A Sl i e e 7
T |/ ST W, ETETCETE T tht FH AT A @
Clinical features of over dosage of ron are P
Grey/ black stool, progressing to hyptrghfgilla

76, FEETERIBEET_ ATbE A
Axillary nerve is formed by spinal nerve ()

.-‘r

C5, C6 -

7T. S EUSTEH  gA mﬁmlaﬁagnﬁ?
g o
Which enzyme is capable ;u add or remove water 7
Lyases N \O

78. <% 3 A {ﬁm}@ﬁ# Fere Ralta s wefien o6t 1ot (W) 3
3 forre iy 1 e et
Dosage :}ﬂmmﬁml bath technique for relieving pain and edema
3 mfl; utes warm: 1 minute cold

: wmuﬂmémm T I 1 T ST o o0, e AT @ |
“+ ELISA is a test used to detect protein in
Virus

0. w9 sEgiRen (o) wRa i 7

hHEES
Which is loop diuretics 7
Frusamide

A3 18 9 00 MASTER




ST ] S S

e e (S svea, S B9 T (R see, FER e
Clinical classification of ulcer is

Spreading ulcer, healing ulcer, callous uleer

8.

UVR ST (Uishae ) #1 B4 B
E4 dose of UYER apphication n
El time % 10 r

e g i ST 61 2 g A g i M

Increase in temperature will cause an increase in the rate of an endothermic reaction is
related with = ALY
Van't Heff's Law &

it el wd) aiferer e R

AT 0
Largest scsamoid bone in the body is Ty
Patella "

o G g S YA g
In a magnet: like poles ﬂfmagﬁbii,’; to each other.
Repels

FEH] BT < :f.%rﬁmsqmaﬁ (spores) %1 ITFRT HTT &

weireifean 32t o s wilg (TR i BH)
Microbiological tést of heat efficiency uses spores
Non-toxiogenic strains of Clostridium tetani

oL ot ST T B S A, ] TR A G K01 ol fer i
m'_!:-,ﬁﬁ{ﬁ}mmﬂmr

-Pr:fﬂrtmn of patient while treating pressure sore using UVR

Obligue side lying

RA.

st (rgmer) # Sfl o et e it # 2
|

How many layers of muscles are present m Sole 7
Four layer

MASTER 3 91 Al 18



89, e ueat s for van R R 7
s

Who is prone for tennis elbow 7
Carpenters

90, e e g § B v E -
g (Wifie) whe Eie
Carpal tunnel syndrome may caused =
Median nerve injury

Wi e SATATH SITENT 5 S T © e b
FATeErTe <6 v T, Ty e

Central changes of Aerobic exercise training inchudes: A
Increase Stroke Volume, Increase Myoglohin.

o2, fam aftoy = wed o g R A

wH N7
The weakest point in the electric circuit is
Fuse

03, S e T T i AT TENS 3 ET S e -
waﬁsu-lnuﬂa?ﬁhwih 50 s

Common ¢ffective parameters uﬂTEHE used for reatment:—
Frequency 50 - III-Q-I;II, Pulse width 10 - 50 ps

@ﬁmmﬁmﬁmwm 1 39 TR
495 [ m?; g

Suitable leye! “qi'LASER Energy density in supraspinatus tendinitis
4 ;ﬂulm Jem?

95, T 3 98 01 ) TR o (i S Rt S S
._I 2 E El | :l
] Pmpmy of water which exerts upward force opposite to gravily is
Buoyancy

96, =i w1 FfiE T whEEE 2
Eraiie g
Which vitamin is least harmful 7
Vitamin E

A3_18 -3 9
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07, e T SR (TRGTE YN (YeT) SIS S e §
L il

Pulp space infeetion (Felon) often affects:
Index finger

08, WA @  iwE o e |
e (ot difern e

Sahin Vaccine is also called as
Oral Polio Vaccine

L
%

i
g
09, HENE (ST ) 3 TS -t T (PIiTE wig) o g
Spasmodic contraction of Diaphragm results in e y
H]':c“p | .'LL""
o
100, 3T (vie) i e v § Gy
Daily requirement of Tron is tl-.,_x;&?
10-15 mg/d o ¥
o iy - :E';
O
. "'-.._' ’ :l"l‘
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6.

WUE-1 / Section-2
22 4w %18 | Trade Subject Code - 19
e e %9 ToR §EE / Cinema Operator cum Publicity Assistant

T O R 7
e v Wit & ol Rt w3 wiiee wean @

What does a camera person do 7
Shoots the footage and knows different types of shots

K
67. oA W AR T 7 :
wEaE TR T A e O 3 F S S o o I mmwﬁnhﬁ
Hae | P b
How do you zoom out 7 l_::‘:“ ?
Using the zoom lens on a camera to zoom in or u'ut on the subject, usually with a
stationary camera. ¢ Li!'
68. 3 v it wh T @ Tt o T Iqﬁﬁiﬁﬁ,ﬁ‘}
forg
W‘l‘mt do you use to keep your camera ﬂqth_ ;'ﬂén.rmg 7
Tripod S
. WwfEmTE 7 N
e e R et e S it
What is the Rule u[':[‘f@.;ls 7
Composition th’mr:,r based on dividing the screen into thirds
70, 3 ma‘r@ﬁ AT B 7
qﬁmwﬁmﬁmﬁm#ﬂ A Py # e w
Hm:.' dnrg.rﬁu import your video ?
£ - Use a firewire and plug it into the camera and your laptop
T1.

-ﬁ%mw%ﬁm?ﬁﬂmﬁ  To7u eRtt % FEEtl E Term | w6 AN T
wadl

TRt
It has been seen that vural folks migrate to cities in search of job opportunities to earn their

livelihood
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1 A Tty 8 6 e e S % sfted e § v s o g e S 3
e a2 |
i fem

refers to improving standard of living of peaple residing in rural aress on a sustainable bass and
making them self-reliant.
Rural Development &,

ﬁ#ﬁﬁmﬁmﬁmﬁﬁﬁmﬁﬁ%ﬁmmﬂmﬂmﬁﬁmﬁmmwmhﬁﬁ
ﬁ’ﬂl% I _,.: b
SIS A (Fhie ahea) f '3"? 7
Mission is meant for providing vocational training to rural ycn.rlﬁ} in order to develop
skilled work-force. J ;’ g
Skill India -

4.

o fare 1 S e o gt whmE O

4

-
m TIE-H‘“- .-'-.:l_: il
Initiatives for implementing rural deveh::pm:nt mq;;ﬁk

All of the given

75,

ﬁmﬁ:w#wﬂnﬁ%iﬁqﬁmmﬁm e 7
iﬁmﬁ -“-."r

What shot is used to represent af’ﬁﬂugﬁ‘:'ter as having power 7
Law Anghe Shot X

T6.

20 T Pt (et ARt 1 e S SR A A A 7
L S
WY
Which mntml%,%qﬁges the volume of light entering the camera 7
180\

T

ey 1 AR ) aiggm R A SR Fn we d 7

4 "What is it called when the camera turns upward or downward ?

k
-

i

78,

oyt wien =1 T

faw o i

Role of Prism Block is :
All of the given
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79, HHY HH HEA A RAEE 7
e

Which is the most common editing technique 7
Cut

80, Toem v o i o e :
Aitfer () # et

In which types of lens has fixed focal length 7
Normal Lens

Bl. M B CODECH ¥imis g 7 ﬁ_
& = wf . ¥
Which comes under CODEC ? “_
All of the given h

82, &t wr i wr e Feife o & s ﬂﬁﬁﬁﬂmfh&nmmﬁmﬁﬁmm% i
R h
Which part of the camera conirols how long Ilght i‘s cxpnu:d to the digital sensor/film 7
The aperture !

§3. SITE®ITI®qFIE 7 .

ﬁ%u‘rﬁm%ﬂﬁhmw&h
What is the full form of SITE ? ;=
Satellite Instructiona) J‘tlﬁ\flshm Experiment

84, sy Fraish & frdye ﬁ@ﬁ/ ?
Mi '1!‘,:
Who is dlrc-ul:m‘“qfﬁppu Trilogy 7
Satyajit Ray

85. AT firet & qham Y TEE |
R S &, e o R |
‘ “Identify a disadvantage of an analog signal,
' When copied, quality goes down.

86, T17.20 U A PR A & R RS 7
e wureq (Pl ufefin)

What is tape to tape editing also known as 7
Linear Editing
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#7.

AreasEE FaEm R mE

Tk g Y T g wife o e # s s e wiE I
If a shot is ending with a wide shot

Use a different wide shot than the one vou started with

a9 W wmiEmE A I - mmﬁwﬁﬁaﬁﬂaﬁhﬁﬁﬁ;mmﬁmmﬁqﬂﬁaw
I T ey 7

It (JPEG)

‘Which file format should you use to display photographs and other continuous- lcrne Jimages on
the Web 7 :

JPEG

oy
|

TG TS U el o1 Y & ST 5
1Y G Forrs T w o e mmﬁﬁwmaﬁ:ﬁ&r
Editing is almost an art form because v
You are blending together images and sound to ma]mrl mnnm:ted piece.

).

T T B S~ T ($2e R e mﬁaﬁmﬂmﬁﬂm
a5 T e R | o
o S L
Except for around five thousand or so ﬁrbﬁnupais (internet kicsks/dhabasg) and a few other
community servicecenters, i qugrljr served.

Rural India

1.

mmmmmmwﬁ%mﬁmmm 1 HTHAT
Ewmwm#mmﬁmm% [

S Hibe x}'
An external . qﬁ- e camera is generally included to plug in a separate microphone for
befter sound q )_@th?f and more accurate mic positioning,.

hli:Sﬂ-l:

22,

Jo mm) fetdn % e it o (wreak havoc) He 2 |
e
Iiigﬁﬁhmiditjr can wreak havoc with reconders,
Video tape

v g (e w), T o B (@ w0 o b (38 g A, @,

didiam AT sngege, snfe) w0 % fon = wh s we &, @ ol AT B E
Stea T

An is needed whenever there are a number of sound sources to select, blend
together, and control (such as a couple of microphones, CD, VCR audio output, etc.).
Aundio Mixer
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mmmﬁ;mmmmﬁmmﬂmmw%ﬁ
W) @ (Sl ) wm A we) w2, e
T el T,

A more Mexible type of audio filter, which can boost or reduce any segment(s) of the audio
spectrum by changing the slider pots is called
Equalizer

95.

durgs (ufidn) § “ie e el R

s Wiie W arTE wite e i (AR & "Iy
A “matched cut” in editing mecans

There is continuity from one shot to the next.

;- 1';.--

9.

TR 1 AT w5 (T ﬁ%-mmnummmaﬁﬁaﬁﬂﬁﬁl
Timrer =i

The may also inclode or combing neatral-density (ML) \{.f[{':rs h;J ITProvE eXposure.
Filter wheel

97.

_ fimn o e, A % O (ﬁﬁwmﬁm I SR w A (e
mmﬁm]%mﬁm{ﬁuﬁ}mii o
HRE \
The  system struggles with small sul:ymls surface color (especially black), and shiny
angln‘i surfaces,

Tnfraced >

T IV & 9T TR I, qmmﬁﬁamﬁm R el (key) TR, SN (bow)
i, ) 78 %, T AR |

m{m} I.;"l
Placed close to an instriment, a mic can reveal various mechanical _ such as key clicks, bow
scrapes, and so on. - L'*-H

Noise - .

m@ﬂmm#mﬂﬁm—ﬁmmﬂﬂﬁm#ﬂﬂﬁ | ¥ g
Zetifer = it i B # |
" televisions send an electron beam through a vacuum tube to o phosphor-coated screen.
These ube televisions are large and bulky.

CRT

1M,

delin i el & sl eitfem sitc ifen #1
s T

The telephone is bilateral while television and radio are
Unilateral

L
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HUE-1 .lT Section=2
7% v i / Trade Subject Code - 20
S8 TEATIIEN WEE® / Junior Laboratory Assistant

66. 30 vitferss weEn =1 A ferfian f wmand wann 3 fRR vE @ e
TH
Name the physical quantity which is kept constant during isothermal process.
Temperature
67. Toraft e o Foen vy el o vl e 2
T %1 WRE 2 Pt
The work done on an object does not depend upon the: e
Initial velocity of the object o,
68. Tk o o) e
vt
Units of Relative Density are :- el
Unitless *s
69, mﬁﬁﬂamﬁmuﬁmmm% ?- V'
T T
Which of the following can produce a @rhnagef
Concave mirror
70 wHEdEd mﬁiﬂﬁﬁmﬁrﬁﬁrﬁmﬁ ) e o wmem &, frefaftaa s nf
ar gzl B 20 fedl e 2 ke F R, a0 Beltjde 2 3 % T sl so fall e 6
e % o | 06 %o e o w0 E 7
whehfEm
A racing car am:sluﬁws umﬁ:srml:-,r through three pears, change-s with the following average
speed: 20 kmvh for 2 8, 40 km'h for 2 8 and 60 lan'h for 6 s. What is the overall average speed of
the car ? __“ ./
48 km/h I
71, AT FEE i S wEgd T 9 & HEA ) Aan 6 v R 8
Foeft ot e e A T €
Two objects of different masses falling freely near the surface of moon would
Have same velocities at any instant
73, HYE 8 H2H W, g9E
AR |

By decreasing the contact area, the pressurc:
is increased
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T3

ek s T 1 ST 10T § 3T S T AOE Al S § 0 e g

The angle of incidence i and refiaction r are equal in a transparent slab when the value of |
is
“ﬂ

74.

e ey alE
i wmee E

To make a kaleidoscope we require o~
Three plane mirrors

5.

Frtferfar & i 2 e Toarel 5 it 571 1 27 o
i ST 2

Which of the following gases are filled in electric bulbs ¥ o
Argon and Nitrogen

Th.

T fEeran (FEe) T IR )
qEo F 'i..-_‘:
Cochlea is a part of &

hearing organ ’*‘5'%

7.

1 A deTee 5 it B FerreriEe @ ﬁﬁg%ﬁ‘!l?
T TR T ER | T

Which of the following statements about dm‘ﬂar}d and graphite is true 7
They have same chemical pmpeﬁs

=it 7 4T AvTieeen (addition) WfAfiAT @ Tt 2

Which compound will ﬂrﬂﬂ]‘g-ﬂi;‘ﬁdiﬁﬂﬂ reaction?
C,H, )

T9.

mm?m#:ﬂaﬁﬁhﬁg

Wﬂ}
All noble gas mnlacl,llas are
Monoatomic

80,

I BT A e SETRE % v Wi F & ol - it s S i v w
&mtﬁtﬁhmﬁzmﬁﬁm% ErEabr: S
|\t it

Gd;]jp-cr reacts with moist carbon dioxide in the air and slowly loses its shmy brown surface
“und gains a preen coat. This green substance is

Copper Carbonate

qﬁmqﬁxﬁmﬂ & TuH BT R |
fwm

The adour of acetic acid resembles that of
i-’im:gar

Y
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2. _am R 9 S SEEn § 2 OH 31RE ol B, SEea 8

feanehe @

The base that gives 2 OH ions in their aqueous state is called as
Driacidic base

43,

ﬁwmﬁmﬁ;ﬂmﬂﬁmmﬁﬁmﬁﬁwﬁmﬁﬁmﬁaﬁwrmMﬂ
AR A H  FREAEIR |

e ST uw

A pseudo molecular wcighl computed by dividing the mass in a mluwhmutm by
the number of moles in the mixture or solution is called

Average molecular weight _

%
L W i

84.

'g" ded ATy H ATt SEETEE T A immmaﬁmﬁ?@:ﬁﬁﬁmmﬁmm
TR wE s B e i wEa R | ~

T ; ,':-;
The element ‘2" burns in air to form an oxide. The ag;ﬁﬁus solution of this oxide turns blue
litmus red. The element *Z" is most likely to be: 'l

Y

carbon

gs. = I fwi e el e A E

A0
The period that contains only gaseous clefnents are
i, T
1 ¥

B6.

e 5 T 1 P o 35 SO # 7
v O

Red colour of the hl@dﬁ& due to which pigment 7
0
Hemoglobin ./

g, v

87.

ﬁﬁﬂ#ﬁﬁﬁﬂnmﬁﬁlﬁﬂmﬁﬂﬁ?
e

‘Whiich-vitamin helps in cloting of blood?

Yitamin K

g8, Freifefem 69 =R sl Sred s e s R

BTy

Which of the following carries genetic information?
DNA

R
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T 1 2 = e et o e e I R 7

Lo
Which of the followmg 15 largest organ in the human body ¥

Liver

90.

Hhe i fRmda

ELSIL
Lungs are situated in

thoracic cavity (G

91.

T Sl ge el fieem | wdd N
The total number of bones in human body are . A
200 -

e o F o Rm S S e wmdl 0

= = =t
T SroTret A2 :
Group of different organs performing same funétions is called

Organ system O

93.

nmﬂarﬂtﬁmﬁlﬁﬁmﬁﬁ#riﬁﬁt\? '“’
vl & i =0

What is number of ribs in humsfﬁ.i;:d}"]'
None of these

A et e o T 9 Y 254 o1t A T & 3 R 20% 1 97 8w B, o e
If the price n%“‘&-’bnuk is first decreased by 25% and then increased by 20%, then the net
change in the-price will be :

10%

T 400 3 B 344 3% Tt Ry she e 52 il @9 3 600 3 & 582 37 Wit R | T
= wfieE dEw 2 7

LEl

Ron scored 344 marks out of 400 marks and his elder brother Ben scored 582 marks out of
600 marks. Who scored percentage is better?

Ben
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96,

4 wEEt = aftam 20 B s ol wen vy TEmet 5 A R 13 | ueel e el 7

The average of 4 terms is 20 and the 1¥ term is 1/3 of the sum of remaining terms. What
will be the first number?

10

97,

U Ty = SnEn i 39 20 cm 30 6 om R | FrEm w1 Seree s S

The base and height of a triangle are 20 cm, and & om. Find the area of the triangle. . (>
1._,..!"'."
60 cm?® &

SR 4 cm SN SHTE 6 cm T Frv 5 Sps 1 4 &’
The arca of a triangle with base 4 cm and height 6 cm is e
12 em? ) Y

afe o o 1 e 1331 W R 8, ﬁmtgmﬂmﬁ%_ii
11 #eft ,.n.

[f the volume of a cube is given as 1331 em’, the length qﬂfm edge 15 equal to
11 cm w*‘t"‘

i

104

ue firdtet o1 sman &9eA 21 mﬁ%aﬂ‘km‘@f{m? | foretet =1 FmaT T R (=227
difg 1) D

A cylinder has a base area equal to 21 ;ﬁ"anﬂhmghtﬂqualm 11 cm, What is the volume of
the cylinder 7 (Take m = 22/7) ‘H

231 cm? (;..::,“*'
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